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�-������
"!&�/"�����"!����(����	�,���������
1+��� ��&	+���
 ��.������	����(+��� ���&6����	5�(����������� ./���.���������(+�����&6��	����������� ��0�#�(��
���
1+��	�,���������"�������*���������)��	��"!�	��������� #���� 	�$!�  !�����	���
�-���"9���	
.�� � .�+)		���#���	�����"!����(����	�,����!������� ����	.�+�,����)��������������&�����
#"	"��)-��	�,���� .�+(�!*-���������	�,�������� �#�(������������	##�.))#�&�	1�/��
������	 ergonomic ��0�#������
��*���	-�����,���� !�#��������+*���)*	�	+!��� ��	�&�����

#"	"��)-	+�������	�,�����&6��"9���	���!�./�(,��&6�/�#�#��������	����0#(��
5��,����!��� ���1+
�����	������#�&�	1����##�.))/������ ergonomic *���	-)		���.�+�+�##���	)�!�($) !� 

./�#�&�	1�����������	���*5�.�+�� !���� �!��:��+��&	+��� ��  

����"(�������"!(����	��.���"!��������	)		���&';��!�����������/�� .���"!
!������� �0# ��	��"����	���0�#� �������)	������*��������#�)������	+���������,���� ��	
���0�#����	������*�������(+�,����)��������������,���� !�/��&�/" ���1+�!������(+������"����	
 ����������"/ .�+��	�����������#�)��������  ����"(����� ��!�������(+*���	-�����#�&�	1�
��0�#*��)*���.���"!!�����������&6�(	"������� !� 
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1.2 ������������ 
 

1. ��0�#���
�
��	+�)�#���	��"����	���0�#� �������)	���������	+!�)�����	$�/���7/�#
&	+*"�9"2����	�,�����#����
��  
2. ��0�#���
���/	?������	&	+��"�&	+*"�9"2����	�,���� 
 

1.3 �������	�� !�" 
 

1. ��
��	+�)�#���	���0�#����8�����"������/�#&	+*"�9"2����	�,��������	�����,������
*,�������)��/@+  
2. �"(�	1�������	���0�#����8���&�#!2��/�#	���������
���1+��������,���� 
3. ##�.)).�+*	��� #�&�	1���0�#�,���	�!*#)*�		-2����	�,���� .�+*	�����	
���0�#� �������)	������*������� 
 

 

1.4 � $�%	�&�	�� ��	�� !�" 
 

1. ���
��"9���	&	+��"�&	+*"�9"2����	�,����2���/���0�#� �/���7*,��	�)�����*,�������
��������	���0�#� ��	������ (������"(�����
����� 
2. ���
����
1+��	�,�����#����
�� #"	"��)-/���7 ���
1+��	����.�+��	���0�#� �� 
	��/ &-��*2��.�!��#� ����	�,����  
3. ##�.)).))�!*#)����������	&	+��"�&	+*"�9"2����	�,���� 
4. ##�.))#�&�	1���)�����	���0�#� ���#�	������ 
5. �!*#)�)0�#�/����0�#���
�.))�!*#).�+#�&�	1����##�.)) �� 
6. *	���#�&�	1���)�����	���0�#���� 
7. �!*#)&	+*"�9"2����	�,�����#����
��2���/�*2���+.�!��#����./�/������/�����
�,���! 
8. *	�&
���	�!�#�.�+�"��	�+����#�5� ��0�#�,���#�5���� !� &&	+���/����/�# & 
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1.5 ���(")������	&�*	!�+&,��� 
 

1. ��#�5�����*�����9�	+�������	���0�#� ���#�	������*������������"������.�+
&	+*"�9"2����	�,��������&�����.&�� & 
2. .*!������&6� & !�����	��"����	���0�#� �����.��	�������1+����,���� 
3. �,������"!.���������	.��&';����	�����,�����&6�������� 
4. 	�)	����/	?������	&	+��"�&	+*"�9"2����	�,���� 
5. �&6���#�5��0��?������	��#�����"!���0�#� ���1+��������,���� 



����� 2 

���	
��
�������
	���� 

2.1 ��������������
������������	����� 

��������	

��
�������������������
������������ � ��!"�#�$������ �%����
!���$!&%�������$��%�� '#"���(")%�
�%� �%��(&)��*�)%����+��������� 
���,+�����
�%� �%��(&)��*�)%
��-��������. 
���+,�����
�%����%�������/&� ���� ��)���� �����������$��� $(&���	

��
�
$�"$(&������������*�)%

�� 0��%
���,+�
 ���-�(")%�*�$���,+� �1�����2���
��
�%)�#&�
����$��������
���� �%���," ���� �%���
����*�)%

����
��!�& 
��������
��� �%���&���
����*�)%

������-� ���
�34����
%���� �%���)%���*�)%

�� ,
%�
������
�%� �%�����. 
�%������-��+�%
 ���-�$��!��������%
��&�," �)�
�����&���������������
 ���-�,
%����,"��&����$�"� �
%�������)�����&�!���%�����
���

�
�
�%)�#&�
����(&)��*�)%��-�������� 0��%��������&�,
%��&���,"$�&'#"����/"�)��+��()�5��*�)�����
���+% 
�/&��/"��&�����)��+��()�5 �����&������)���+�
�������/"�)��+��()�5(&)��*�)%�
�)�&�%�")��)%
/
����%������ 
 �����������&������$����"���+����������/&��
� ������
�%�)%���&���������������%���

���+,����'+,��(+
������
�%� �%��(&)��*�)%��-�������� ��������	

��
���%���+

�!�����*�)%���
�����&�����
�%� �%��(&)��*�)%��-��������
��&)�!"��+,'�����!���)�&�%$�&�&�%��� 0��%'#"�+

��,"
� ����6��7�$�������&��!���%�)%%���+

�,
%��&����" 8.������ 

2.1.1 '�����
������
�%(+,(&)�
���-�������� 

���!(��������
�%(+,(&)�
����. ��-��	:!�(&)��������*�)%��
���&� ����
�%)�#&��
)+�+���2�,+�(+,(&)�
���-��������� ��!"��"����*�)/�,�,+�(")%))�$�%�
%�
��!"�&�%���)�#&�+�%�
���� 
� ��!"�&�%�����+,)�����"� �)�
���
��������*�)��!��&�%������
 ��
,� ��!"�&�%���(")%�����!+(
�")��% ����("��)%!
��
$������!��������!+(
�%)�#&����,
����(� � � ��!"��!+(��!�&)�����%
��"����*�)��&����%�) �	


�,
%��&����&%�!"��"����*�)��)�����"�������� (&)������!��������!+(���
(� �� ��!"��!+(�
�%�"�%)�#&�����+��8�� ����������)%���1,��*),$�����(�� (Kazuaki Y. $���8�, 

2005) ����,
�$������!�*,�)%��!+(
���+������ (Masahito H. $���8�, 2000) ��*�)%
���&���


�)�#&��,
����(� ���&��&�%���(�),���� ����,
����!�)��)%���,#��
�!�
%��+�����������8 35 % 

(Nachemson & Morris, 1964) �+�%����&��
�� !������ �%��,
%��&����-�����/"%���)��+��()�5

$�"� ���(��)%'#"���� �%��
�

�
")%)�#&�
�$�%��&�%��-�������� � ��!",�%(���+,)�����"��," !��
���������
�%� �%��(&)��*�)%��-���������
���
%���+
�
(�,
%��&��(&)��*�)% ��-��,*)� ��-��= 
���-�
���!(��!"��+,���(&�%.(���� �,"$�& Repetitive strain injury (RSI), Cumulative trauma 
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disorder (CTD), Carpal tunnel syndrome (CTS), muscle imbalance �����2�% Computer 

vision syndrome (CVS) $�� Sick building syndrome ��-�("� ��%���+

���� 
���&��2�%

������)��,�,��
%����>��� RSI ��*�)��-�(
�)�&�%� �!�
����(&�%. �����+,���� 

Clay Scott, 2005 �,"� ����6��7��������
� RSI $��� �����'�$��&�����#",
%��&��

0��%�����2�����,",
%��� Repetitive strain injury (RSI) ��-�)���������+,
���
�%� �%��)�#&!�"����*�)%

�)��+��()�5��-��������. �,���-�)������,�
1��)% ��"����*�) ��"��)1� $������������ ���
��+��8 �+���*) �*) $�� �!�& $���) ���!(�!�
��)%�������� 3 �������*) �&���%���� �%����&,� 

�+?����� �%����&,� $�� � �%�������+��� '#"������)�����-�������
���)�����
1�����&�%����&����
$��)�
��)����(&)�����  

- ��)������*�)��"� $���!�*�)�%&��  
- �*)$��$����&��$�% 
- 0�&�0&��� ��)%!�&� 
- �#"����*)!�
�. ��)����/� 
- ������( �$!�&%� ���� 
- �*)��1� 
- ��,(
��)%�&)�.�,���&�#"(
� 

!����)�����)%��� RSI ������$�%
��
,���%���, ���+��+
�
(����
 ��
� �/&� 

�����A,���(# ��,'"� � �)�!�� �
��2 �+��5,�, �����!�
%�*) ��-�("� RSI �/"������-��,*)�!�*)��-�

�=�&)����
�$�,%)����$(&��&�����
�7�(")%�/"����)�&�%�")��)%��&� 

2.1.2 ����4)%�
�$�����$�"�� 

2�%$�"�&����,
%��&���"�%("�
��������� $���&��/"
&����-�
 ������� ������
�7� 
���,
%��&�����+?��4)%�
�$���������," �+?�������
��4)%�
����������%���
���+,����!�&���� �����2
�B+�
(+�,","��(��)% �,"$�& 

- !��������%���� �%��(&)��*�)%�
���-��������. ������������)+�+���2���.
�)%/
����%�,������8 

- �
�%� �%�����&���%����!�����  
- ))�� ��
%������ ����) 
- �/"�)��+��()�5��&����
 ���-� 
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�+?���������&�����"�%("���-������"�%�
�78��+�
����� �%���!"�!����� 0��%
�
/&���4)%�
�$��������)����'+,��(+(&�%. �����+,����
������ �%���," �)�
����� �,"���
��+

�
!������&�� ����6��7�$���+,�"�)����85(&�%.��*�)������)����'+,��(+
������ �%�� �,"$�&���
))�$����"�)��(��!�
���� ergonomic ��*�)�!"�����2�
�%� �%���,")�&�%�!������
������ ���

���(�"�,"���+?���� !�����"�)����-������1�.����
� ,"������2��(� � ��*�)�,�	:!���,!�
%
������
�%
��� .(Leo L. $���8�, 1999) ���))�$������
�%�+�67���
�/&����+��)
(������!�������)%��!+( 

$���,��������)%��*),����� (Shvartz E. $���8�,1982) ��-�("� 

2.2 ���������������
�����
��
 �!��������� 

���6��7�����+�?+������� �%���)%���7�5��-�6��(�5����,"�
����6��7������
!����=$�"� $�������6��7���!���$%&��� �,"$�&  

- ,"�����?+ �/&� digit cancellation task (Anderson, 1994, Frewer $�� 
Lader, 1991)  

- ,"������
 � �/&� ���
,
 �(
�����)%( �$!�&% 22 /�,������ 1 ����

(Baraclough $�� Fareman, 1994, Smith $���8�, 1994)  

- ,"��������*�)��!� �/&����(
,�+��
��*)��
(2�(Hick, 1952) ���

���*�)����
��( �$!�&%!���%���
%)��( �$!�&%!���% (Fitts, 1954) ���

���*�)����(����"���%���� �!�, (Zhai, 1997) 

- ,"��)*��. �/&� Psychomotor test battery 0��%��-�����,�)�����

()���)%�)%�����*)� 5 (
���*)� (Hindmarch $�� Parrott, 1978, 

Smith, 1999) ����,�)�,"�� Multi-Attribute Test battery (MAT)0��%

2#�))�$���,�)%�5�����0&� (Michelle $�� Celestine, 1996) 

�����,��+?���������+�����+�?+���,
%��&���"�%("� ��������+�����+�?+���
���� �%������+����� $����-��+?���������-���(�C����������,�+?����!���%�*) ��������+����
���*�)����
��( �$!�&%!���%���
%)��( �$!�&%!���% $��������*�)����(����"���%���� �!�, ���� �%��
�
�%�)%)�&�%2*)�,"�&� ��-�%���*��C��� �!�
�����/"%���)��+��()�5 ���������/"%��)�&�%��"�%���% 
��(�C��������
,����+�?+������� �%��,
%��&���,"�����6��7� $����"�%�����
��
�?5��!�&�%
��������)%%���
��������������� �%��  !�
%
������,"������+,�"����� ��(�C���!�&�����,"2#�
)"�%)+%������+

�(&�%.������ �,"$�& ������������������ �%���&���
����7�5�)%)����85(&�%. 
$�����!�'�������)%���������������$�,�")�(&)���� �%�� ��-�("� �����
��
�?5��!�&�%
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�������%&���)%%���
�%�)% �*) %���"��( �$!�&%$��%��(+,(��������*�)�����,"2#��
���
�
������-��D�)%�����
��
�?5 �D,
%��&���,"$�& Fitts= law $�� Steering law �&)����
���&��2�%

�D�
�%�)%
��)��&��2�%�D�����
��
�?5)���D!���%�&)���*�)��-��*��C�������� �������"��
�D
�����
��
�?5�
�%�)%(&)�� 

2.2.1 Hick=s law or Hick-Hyman law (W.E.Hick ,1952, R.Hyman, 1953) 

Hick=s law ��-��D����/"�
����(
,�+��
��*)��
(2� Hick �,"� ���������&� �������

�/"�����(
,�+��
��*)��+�%����!�*)�.�
� �/&� ��E�!���%��E�
��!���.��E� ��-��
,�&���)����+����
C���)%�
�
 �����+�%������!"��*)� (�,�%�������"�!�
���8F5��� $(&��(
���*)�
�(")%���
�78����
�����2�����,"�
����&��/&!�*)��& !��$(&��(
���*)�
 ���-�(")%�����)&����������)��,�&)����
�
(
,�+��
�,"�
�� 
���&��"�!�
���8F5���) !�
%
���
�� Card, Moran $�� Newell (1983) �,"� ����

��
����%�D,
%��&��
��	

��
� ������)% Hick=s law ���
�78�,
%����� 
     ( )1log

2
+= NbT     (2.1) 

 �,�  T = ��������/"�������*)� ��!�&����-��+���� 

  N = 
 ����(
���*)��
�%!�, 

  b = �&��%��� ��!�&����-��+���� 
 

2.2.2 Fitts= law (P.M.Fitts, 1954) 

Fitts= law ��-��D����/")?+���������*�)����
��
�,!���%���
%)��
�,!���% Fitts �,"� �

����,�)%����������")%�
�������*�)������ 1 �+(+ ������&� pointing task !�*) tapping task �,"$�& 

���$(�$'&���!� ����"����1� $������"��$!�� (���#���� 2-3 0��%%��,
%��&�������2������-�
�#�$������ �%���,"(���#���� 2-2 $��!������
��
�?5��!�&�%��������/"�
� �%*�)���(&�%. Fitts �/" 

�J7B��&������)% Shannon (1949) ��-��*��C�������!������
��
�?5
������2�����,"�&�

��������/"��������*�)���� ��-�K	%�5/
��)%������%$���������,���*�)� �,������
��
�?5
,
%��&�����
�78�$���)����+����C���)% ,
%����� 
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�#���� 2-1 �
�78��%*�)����)% Fitts= law (Mackenzie, 2004) 

    






−=
A

W
ID

2
log

2
     (2.2) 

�,�  ID = index of difficulty ,
/��/���
,��������)%%�� ��!�&����-� �+�   

 A = ����!&�%��!�&�%
�,��+��("��
���4�!��� ��!�&����-��0�(+��(� !�*) �+��0� 

 W = ������"�%�)%��4�!������+6��%�,����
�������*�)���� ��!�&���,����
� D 
 

$��    






−=
A

W

t
IP

2
log

1

2
   (2.3) 

 �,� IP = index of performance ��-��&������������+�?+������� �%�� ��!�&��

��-� �+�(&)�+���� ��%%���+

��/"������&� TP (throughput) 

  t = ��������/"��������*�)���� ��!�&����-� millisecond 

 

 

 �#���� 2-2 ����,�)%�)% Fitts (1954) 
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!�
%
���
���,"�������
����%������)% Fitts= law ��*�)�!"��"��
%&��$��������

�!����������� ����/" $�����&��#�$������!���������������������*)������/+%��"����#�
�)%�����
��
�?5��!�&�%��������/"$��,
/��/���
,��������)%%��,
%����� 

     IDbaMT ×+=     (2.4) 

�,���� MT = movement time �*)��������/"��������*�)���� ��!�&����-��+���� 
 ID = index of difficulty 

 a , b = �&��%�������,"
������ � regression ��!�&����-��+���� 


���
���
��+

�!������&��,"� �����,�)% $���������
����%�&� index of 

difficulty ��*�)�!"�),��")%�
��")�#�������� �&� ID �����
����%$�"����
�78�,
%����� 

     






 += 5.0log
2

W

A
ID  Welford (1968)  (2.5) 

     






 += 1log
2

W

A
ID  Mackenzie (1992) (2.6) 

����� Fitts= law ����+���/")"�%)+%��������,���	

��
��*)�������� 2.6 �)% 

Mackenzie (������&� Shannon formulation of ID) ,"���!(�'�����������*) �#�$����������2

)?+����")�#��,",���&� ��-��#�$���,����
��J7B��")�#��)% Shannon ��� Fitts �/"��-��*��C����

�����"�%,
/���
,��,
�������� $����������
��4)%�
���&�!"�&� index of difficulty ���&�(+,��  

,
%�
�� ����� Fitts= law ����/"���	

��
��*) 

     






 ++= 1log
2

W

A
baMT    (2.7) 

     
IDba

ID

MT

ID
IP

×+
==    (2.8) 

!�
%
����� Fitts= law �,"2#��+,�"������1�,"������ ����/"%��)�&�%$��&!��� $��

�,"������
���
�������-��")$��� � 7 �")�����))�$������,�)%,"�� Fitts= law �,� 

Mackenzie ���=2004 0��%��!�
����,
%��� 

1) �/"�#�$�� index of difficulty �)% Shannon formulation (�������� 2.6) 
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2) ))�$������,�)%�!"/&�%�)% ID ���&���"�%��*�)
��,"��)�����/&�%�)%���

� �%�� $����*�)�����!������������"�%����� $���,�)%$(&���%*�)��������8 15-25 ��
�%  

3) �
,������
���)%( �$!�&%�+����,������*�)��������,"
������,�)%
�+% ��*�)!� 

�������,���*�)��)%
�,�+����, 

4) �+
��8�������*�)����
�+%���'#"�,�)%���� � ��*�)�!"����������$�&�� �������� 

5) ��"�%�����2,2)���*�)�+
��8������),��")%�)%�")�#��
� Fitts= law 

6) ���� �'�����,�)%����,���85������*�)���� �����-������,���85��/&�%���

�,�)% (interpolation) $��������,���*�)�����,"�����8 4 ��)�5�01�(5 

7) !��
�,����%�5������,�)� ��-�����������������!�&�% �)%�%*�)����)%

����,�)% !�*)�����&��
�� 
�(")%!��&� Throughput (TP) �)%$(&��'#"�,�)� $��� ����!��&� 

�>������*�)!� grand throughput ,
%����� 

   ∑ ∑
= =











=

y

i

x

j ij

ij

MT

IDe

xy
TP

1 1

11    (2.9) 

�,� x $��
 �����%*�)����)%������*�)���� $�� y $�� 
 �����)%'#"�,�)� 

2.2.3 Steering law (S.Zhai, 1997) 

Steering law ��-��D����/")?+���������*�)����(����"���%����,"� �!�,��" 0��%2#�

6��7��,� Shumin Zhai ���8��
�� Zhai �,"� ���������)���(�)% Fitts= law �,�� ������ 

Fitts= law ���/"�
�����,�)�������*�)���� '&��
�,��+��("� $����4�!������������(
�%>���
����

���*�)���� w $�����*�)������-�������% A ,
%�#���� 2-3 

 

�#���� 2-3 ����,�)%�+�%'&����4�!����)% Zhai (1997) 
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������,�)% Zhai �����2�����,"�&������ 






 += 1log
2

W

A
ID  �����2

)?+���%�����������$����������/"������,�)%
��������
��
�?5�/+%��"��
��&� ID (���D�)% 

FItts )��,"�� 
���
�� Zhai �,"$�&%/&�%������*�)����))���-�/&�%�&)�.$���/"�����
��
�?5��%

�8+(6��(�5�������
��������*�)����'&���)���(�����&(&)��*�)%����-��)���(���(&)��*�)% � ��!"%����

�
�78��������$��%��-��#���� 2-4 �&�,
/��/���
,��������)%%������������*)  






=
W

A
ID  

 

�#���� 2-4 ������*�)����'&���)���((&)��*�)%�)% Zhai (1997) 


���
�� Zhai �,"� ������������/"�
���"���%������*�)����(����"���%$���
���� 

�,�$�&%������*�)������-�/&�%��1�. ���$(&��/&�%��,
/��/���
,��������)%%��(������,"�+
��8���
$�"� ��*�)� ����)+��+���( 
��,"�������������/"��������*�)���� �,� Zhai ��������������&� 
steering law 

      
( )∫=

A

sW

ds
ID

0

    (2.10) 

�,���� ID = index of difficulty 

 ds   =�����
��.���(")%���*�)����(�� 

 W(s) =������"�%�)%�)���(���(
�%>���
� ds 
 

 

�#���� 2-5 ����,�)�$�� general tracking �)% Zhai (1997) 
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����� Steering law �����2������!")�#&���#� Local form �," �,���-����

$�,%�����
��
�?5��!�&�%������1�$��������"�%�)%��"���% �,������
��
�?5,
%��&�������&� 
������1���������*�)����
�$��'
�(��������"�%�)%�)���(���8��
��,
%�������� 2.11 

     ( ) ( )
τ

sW
sv =      (2.11) 

  v (s) = ������1��)%������*�)���� ���( �$!�&% s �,. 

  W (s) = ������"�%�)%��"���%���( �$!�&% s �,����
� 

  τ    = �&��%��� 

����%�B+�
(+����,�)� tracking �
�������2$�&%��-�%��%&��.�,"�)%$���*) 

������*�)������-���"�(�% $��������*�)������-���"���"% 0��%2#�� ����/"��-���(�C��������,�)�
��*�)% steering ,
%�#���� 2-7 �)�
��������6��7�2�%'��)% scaling (�&� index of difficulty �,����
� 

$(&��������"�%$��������%��&��&��
�) ���&�%��������)��,��+��� !�*)%��������)���(���
���*�)���������+���
��/"������������*�)���������&� 
���#���� 2-6 $�,%2�%�*������ �%�� S 0��%'#"

�,�)�
��/"����� �%���")������,��*�) S = 2 $�� 4 $��
��/"����� �%��������� ��*�)�*������ �%��

�����,�!:&���� S=1 $����*�)�*������ �%�������,��1��% S=8 $����,�"��'#"�,�)�
��/"������

���� �%����������,��� S=16 

 

�#���� 2-6 �
�78��������������� scaling �,���*�) s=4 ,W=60 $�� A=250 %������ �
�������

��"�% 5 mm $��������%��-� 14.8 mm (Zhai, 2001) 
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�#���� 2-7 �
�78�������*�)���� tracking $�� ��"�(�% $�� ��"���"% (Zhai, 2003) 

2.2.4 ��������)���(�)% Fitts= law $�� Steering law 

$����+���,+��� Fitts= law $�� Steering law ��-���(�C������������+����

� �%������("�%*�)����>��� �/&� Fitts= law ��-�������*�)�����)%�*)�� 1 �+(+ $��,"���")
 ��
,�)%

�&�%������7�5� ��!"�&�,
/��/���
,����������&���&��+� 10 �+� ��*�)%
���)���(�)%%��,
%��&����&

����%�)���
���)�����%��!���������� ��!"�
��+

�!������&��,"� �����,�)%(&�%. ��*�)� ����
�����)���(���� �%���)% Fitts= law $�� Steering law �!"�����2)?+���%�����������0
�0")�

�������  

�= 1992 Mackenzie �,"�,�)�%�������� targeting task (������*�)� curser 

���
%��4�!���) ��%�������+,������ 2 �+(+ $���,",
,$��%,
/��/���
,��������!"�!��������� �,���

�)%�#�$������!����������)?+����*) smaller of model 0��%��-������*)�,"�����$����&�

��!�&�% ������"�%$����������)%��4�!��� ��$�����&� W �)% Shannon formula $�� W= 

model 0��%��-����!��+6��%������*�)�����!�&$��� ���8�������,���*�)�����)��
��,"(���+6

��%������*�)����,
%��&��������&� W= $��$���%�� Shannon formula �,���� smaller of model 


��/"�")�#������� ���8�")���&� ���8���� W= model 
��������!�������%,"�� �J7B�

�����&�$(&���")�#����(")%� ���%2�%�����&������� ���8 ,
%�#���� 2-8 2
,�� Kondraske (1994)  

�,",
,$��% Fitts= law ��)?+���������*�)������ 1 �+(+ ��������*�)�����/+%��� 0��%���&� Fitts= law 

�
%�����2)?+������� �%�����+�
,�/+%�
���," (polar coordinate) !�
%
���
�� �= 1995  Kabbash 

�,"� �����,�)� curser �����-� area ��%�� Pointing task ���&� Fitts= law �
%�%�����2)?+���

���� �%��,
%��&���,"  



 14 

 

�#���� 2-8 ����,�)� Fitts= law �� 2 �+(+�)% Mackenzie (1992) 

(&)
���
�����= 2000 Dennerlein et al. �,"))�$������,�)%�����-����

'��'�����!�&�%%�������� Steering $�� Pointing ��"�,"���
�,
%�#� 2-12. $��� ���������&�

��������/"��������*�)�����)%%�����������
��������
��
�?5$���/+%��"��
� index of difficulty 

�)% steering(A/Ws) $�� index of difficulty �)% targeting )1(log
2

+
t

W

A 2
,
���
���= 2001 

Yang et al. �,"� � Fitts= law ��)?+���������*�)�����)%$��0��%���
�78���-�������*�)���� 2 �+(+��

�+�
,�/+%�
�� ���=�,����
��
���)% Guiard et al. �,"� �������� index of difficulty �)%%��$�� 

targeting �!"��+���&� 10 �+� �,��/"����+���� zoom in $�� zoom out (��-��
�78�%��$�� 

multiscale ��-�%���������,����
�����/"$'���� electronic ���� �������*�)� cursor ���
%

��4�!����!:&.�/&� �����6 �&)�$�"��&)�� ����������*�)/����4�!��������1���&� �/&� ��*)% ����� 
!�*) )����(&�%. ��-�("�) 0��%���&� Fitts= law �
%�%�!��������
�)?+���%����������� (&)�� ���= 

2003 Zhai �,"� �����,�)� driving simulation ,
%�#���� 2-10 �,�!������
��
�?5��!�&�%

������%�
�������"�%�)%2�� ���&� !��'#"�,�)���&�,"�!�����
���&%
��2��������1��#%��,���
�2�����2� ��," ������*�)�����)%�2��(5
���-���(�� steering law �
�%����"���%(�% $����%

��"% ���=�,����
��
�� Gutwin  �,"� �����,�)� steering law ��%���������� zoom 0��%
�����

�,�)����&��#�$����� zoom  ����!�����$���),��")%�
� steering law �*)��� zoom $�� 

fish eye zoom ,
%�#���� 2-9 



 15 

 

�#���� 2-9 ��� tracking ,"������)%�������,"�� fish eye  �)% Guiard (2001) 

  

�#���� 2-10 Driving simulation �)% Zhai (2003) 

�)�
����� Zhai �
%�,"� �����,�)�%�����(")%�/"���)%���&���*)�
�� � �,�� �

����,�)����
 ��)%����&%�+�%�)%,"��)����85 haptic �,���$���+,
������&%2"����$K
����

!���%���
%)����!���% 0��%��*�)� ����!������
��
�?5��!�&�% ��������/" ������% $�����,�)%
�+�%�)% ���&� %������������
%�%�),��")%�
� Fitts= law ���=2
,�� Guiard et al. �,"� ����

�,�)� Fitts= law ��%�� multi scale )����
�%�,����&��&����
��)% slope �)% Fitts= law ��-�

�
,�&���
����,�)%�������)%�!1� view size $�����=�,����
��
�� Reed et al. �,"� ����

�,�)�%�����)�6
������&���*) �,���-�%��$�� human-robot-human ��%�� targeting task 

���&� ��*�)��4�!����)%�
�%�)%��(�%�
�
�� ��!"��������/"��������*�)������-���(�� Fitts= law 

$�"$(&���	

��
� Kulikov (2006) �,"� ������"�%$��
 ��)%��%�8+(6��(�5��*�)�!"�����2)?+���
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%�������� Steering + Targeting task �,�� ����,
,$��%������)% Dennerlein �!"�������

����0
�0")��,�% 0��%%���+

�����,"��&����$�"��
�%!�,2#���������"��(���%��� 2-1 

 

�#���� 2-11 )����85�,�)�$�� HRH �)% Reed (2004) 

  

�#���� 2-12 %��$�� steering + targeting �)% Dennerlein $�� Kulikov (2000) 

(���%��� 2-1 %���+

�����������")%�
���������)���(�)% Fitts= law $�� Steering law 

study year Task description ID note 

Mackenzie 1992 Fits= law in 2D 






 += 1log
2

W

A
ID  

When W= W= or 
min(W,H) 

 

Kondraske 1994 Fitts= law in angular 

movement 








=

W

AID
θ
θ

θ

2
log

2
  

Kabbash & 
Buxton 

1995 Prince Technique Shannon Use area cursors 

Dennerlein, 
Martin & Hasser 

2000 Steering-Targeting 
task 

Fitts= law + Steering 
law 

TS
cIDbIDaMT ++=  

W

A
IDs =  








 += 1log
2

W

A
ID

T
 

GHI Fitt=s law JKL steering law 
MNOPQRSQTJPP steering-

targeting task JKLUOVQWXQYK
ZMS Force feedback [\MSQT



 17 

]WL^_`Tab 

Yang, Jin, 
Zhang, Huang 

& Wang 

2001 Fitts law in 2D in 
polar coordinate 









=

W

AID
ρ
ρ

ρ

2
log

2

 









=

W

AID
θ
θ

θ

2
log

2

 

^]dTeQWMNOPQReQW^fKghMT àhZMS
JZT 

Guiard et al.  2001 Multi-Scale tasking 
(zooming in-out) 

Shannon ZRQRZMP^Z[ZMS ID GiI^eOT
ej\Q 10 bits 

Zhai & Woltjer 2003 Steering law in 
locomotion 

Steering GHIMNOPQReQW^fKghMT àh driving 
simulation 

Gutwin & 
Skopik 

2003 Steering Task  
Zooming with fisheye 

W

A
ID =   

Sallnas & Zhai 2003 Collaboration task 
With haptic force 

feedback 

Shannon TkQ Fitts= law l]MNOPQReQW
k̀QSQT àh[IMSMQmnReQWW\joogM 
JKL`pqM\PYKZMS haptic 
force feedback [\MSQT

pnSeK\Qj 

Guiard, Bastin, 
Beaudouin-

Lafon, Pasveer, 
Zhai 

2004 Multi-Scale tasking 
(zooming in-out) 

-- TkQ Fitts= law l]]WLRre[sGTeQW
MNOPQReQW navigation GT 

multiscale 

Reed, Peshkin, 
Colgate, Patton 

2004 Collaboration task 
(HRH  type) 

-- TkQ Fitts= law l]MNOPQRSQT àh
[IMSW\joogMJPP human-robot-

human 

Kulikov & 
Stuerzlinger 

2006 Steering Targeting 
task 

Fitts= law + Steering 
law 

( )
TS

IDIDbaMT ++=

 

W

A
IDs =  








 += 1log
2

W

A
IDT

 

 

 

2.3 ���	
��
�������
	���������������
�����
��
 �!��������� 

Fitts= law $�� Steering law ��-���(�C������+���/"����������+�����+�?+���

���� �%����*�)%
���D�
�%�#&�����2�+�����!5������������,"%&�� (
�)�&�%%���+

�����+���/"��������, 
�*),"�� Human Computer Interface (HCI) �,�%���+

����)"�%)+%��(�C��,
%��&�������2$�&%
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�,"��-��)%���&� �,����&�$���*) ����,�)�'�������)%����$�,�")�����������$��%�� (&)
����+�?+������� �%�� $�� ���&�����)%�*)������������������ �%���)%)����85������(&�%. 

2.3.1 ����,�)�'��)%�������� �%������������$��%(&)���� �%���)%���7�5 

������������-�
�+% %��������7�5���� ��
��)�
�,"�
�'��������%)�&�%
��
�+�%$�,�")� � ��!"�
��+

����&�!���%���
���
�6��7�2�%'��������� �
��+

��!�&��
���,"
 ��)%
����$�,�")��
������ $��� �����,�)��,��/" Fitts= law $�� steering law ��-��*��C�������

�����+�����+�?+������� �%�� (
�)�&�%�)%%���+

��!�&������+��(
�%$(&�= 1993 �,� Mackenzie �,"

�,�)�'��)%�����&�/"�������&%�")�#����)�

���+,������*�)(")%������������� �%��
��
������� 0��%
������,�)%�����,"�&� ����&%'&���")�#�����&�/"��� 225 ms 
�� ��!"��������/"��

������*�)���� ��+������ 64% $�� ����'+,���,��+������ 214% (&)���= 1995 Millman �/" Fitts= law 

��-�("�$�������))�$������,�)% (���#���� 2-14 ��*�)�,�)����������2������
��#"
����!�&�%�)%�� ���&�����
��#"�)%���7�5�����
�'�(&�%��!�&�%����!�&�%�)% ��4�!����
�
����!�&�%�)%�*��!�
% �����&� ���,����!�&�%�)%�*��!�
%����%)�&�%�,��� �)�
������
%�����
�,�)%�
�%�����������0
�0")�������� �,"$�& Dennerlien et al. ���= 2000 �,�)�'��)% force 

feedback (&)%��$�� steering + pointing task �,�
��������"�%$�%("���������)����85������ 

�,�$�%("��
����&����������*�)'#"�,�)����*�)������"����"�)��)%��"���%���� �!�,(���#���� 2-15 
'��)%$�%("������ ��!"'#"�,�)������2� �%���,"��,��1�$��$�&�� �����+�%���� 2
,
���
�� �= 
2003 sallnas & zhai �,�)�'��)% haptic force feedback ��%��
 ��)%����&%�)%
����

!���%���
%)����!���%,"��)����85 haptic  (���#���� 2-13 ���&� haptic force feedback � ��!"

����'+,���,������,�)%�,�%  

 

�#���� 2-13 ���
 ��)%����&%�)%,"��)����85 haptic �)% sallnass & zhai (2003)  
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�#���� 2-14 )����85�,�)�����+�?+������� �%���� 1 �+(+�)% Millman (1995) 

   

�#���� 2-15 force feedback mouse $���
�78� force feedback �����+,����������,�)%�)% 
Dennerlien (2000)  

2.3.2 ������������������ �%���)%)����85(&�%. 

Card, English $�� Burr (1978) ��-����&�$������ � Fitts= law ���/"�����

�,�)�)����85 �,��,�)�)����85�&%�")�#�����"��)%�)��+��()�5 ��-�����������������!�&�%
)����85�&%�")�#�����"�$(&��/�+,�&����7�5�����2�/"%��)����85/�+,�,�,",���&��
� �/&� ����5, 

joy stick, step key $�� text key !�
%
���
�����
��+

�)��!������&��,"�/" Fitts= law ��-�

��(�C��������,�)�)����85(&)�� �,"$�& track ball, stylus $�� touch pad ��-�("� ���

�,�)������!������)%)����85�4)��")�#��," Fitts= law �,"�
������+��
�����
�% ���= 2002 

�,"��������� Fitts= law ��-���(�C��������,�)� pointing device 0��%��(�C��,
%��&���*) 

ISO9241-9 �,�� �!�,�
�78�����,�)���-� multidirectional tapping task ,
%�#� 2-16 $��

�����������%���+

��������
�����,�)�)����85,"�� Fitts= law ,
%(���%��� 2-2 $�� 2-3 
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�#���� 2-16 �
�78� multidirectional task �����������"����(�C�� ISO9241-9  
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(���%��� 2-2 ����,�)%�����������)����85�������)��+��()�5�,��/" Fitts= law ��-���(�C�� 
(Mackenzie, 2004) 

 



 
22 

 
 

isd
Typewritten Text
22

isd
Typewritten Text

isd
Typewritten Text
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 (���%��� 2-3 ����,�)%�����������)����85(&�%. �,��/" ISO 9241-9 ��-���(�C�� 
(Mackenzie, 2004) 

 



����� 3 

����	
����
������ 

���������	
��
������������	��������	�������������� ����	���������
��	��� !��
�������"#�$�%&����'!��()�$&
�� !���	�����$)���*��)���+	���������")�� �%&����!����")��
�����	���������#��)���$�&�� ���������	
"���������,"� �������")���%&��������#��%��+-
�����������%��������)&����	���!��$�������#���)��� �����#��+�.�%��������� /���0&��"!�����
�
��������1)'�������)	�����)�#.�����")!��  ������������$$����� ����������	���
�
��2�����'���������������������	
�&����$�, 3���#�������� ,"���!��	� ����4!������%��� ��-
��
��)�� ��&�����������
�����	��4!#��+������� ��
�����	��� ��	�����)&��������������!�� �)��	�
#����5�	�#6" ��
�����	��6���#����0����"!�)��6�����������)���	
��
������� ����	������"��!1(!
�"#�$���������")�����!����� Fitts� law �)� Steering law �%&��������
��� �7��#��) 

'!��()�	��"!�������")����0(���������-"!����+	���#0� ��%&��������� � ���'�����#��+�.�%���
������.��� !�(��$$�����)&����	��	�� � ������ �����)&��������������	��)&���4!������")�����
�
�	
���)&�������)&������'���������#���)��� �
�� �#�,%�)���0����!�'����#�#�����	�������
�"#�$ ��&��������� �����)&�������������#���"���)���#����0������%�!����$���������
 ���� ��"!  

3.1 �����������������
����������	��� 

�� 06���#��-'������"#�$�$&
�� !��	
�����$"!���� 06���#��-�)�� 2 ������ 
����������&������'�$�' ������9�������%��������)&������'����6��- �	���6��-���#����0��
���#��+�.�%����������"! �����'�$�' "���)����%&���	��������"������9�������"#�$���
� ���� 
�������� 06���#��-�)��"���)����)!� �������	�#���&�������'!��()����������-���������#�
'������"#�$ �6���*-�)�,�������	��4! �����0���(��$$'������"#�$"!�� 

����")���	
���"#�$���#��+�.�%���������'����,"��!������)�����'�� 
Fitts� law �)� steering law 1(!�"#�$��������,"��4!���%��� ��- ���"���)�����
�����4!���

,�������:%��/���0(��'	��"!��,������ visual C++ 2005 ����4!���,������"���)������4!

���#-��
��6���*-��$�6� ����������	�������"���)���1(!�"#�$�� !�������!�)�$��6���*-��$�6�
�����)&����	� �6���*-"���)�����0(������!� !, 3� �%&��#�!�������)&����	���!��$�������#���)���'��1(!
�"#�$ 1��������!�'��$6��)��
� )���*�����"#�$��
��� ���(��	� 3-1 ����9��"!������
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� �	�����������	#��#����)���	� !��%����*��&� ����"#�$���#��+�.�%��������� �)����
��$�6������)&����	�'��������� 

 

      

�(��	� 3-1 )���*�����"#�$�����������	
 

3.2 ������� 

1(!�'!��"#�$��
��%&���������� �	���������(����!��������"	����� �)��!�������
'!����	�� ��
�4�������� 3 �� �)��5�������� 2 �� �����
���" 5 �� ��
���"�	���#$���*-��

����4!���%��� ��-����!������ 5 �< �)��=��6$��������4!���%��� ��-�����#�����#�� 1(!�'!��"#�$�	

���6������� 23-40 �< 
 

 
�6���*-�"#�$
���#��+�.�% 

�6���*-#�!�����
��)&����	� 
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3.3 ���
��� 
����!��!�����"#�$ 

����	������"��!1(!�"#�$�>�$� � ��
���������� ������$�6���*-���%��� ��-
������ 1(!�"#�$�� !��������1������%��� ��-"!��,������%�����	��'	��'�
��� �6���*-�	��4!��
�
�6���*-���%��� ��- �
�, 3��	���)���	�""���	
 

- ����������)1) AMD Athlon (TM) XP 2600+ 1.9 GHz 

- ������������'��" 512 MB 

- Logitech optical mouse 

- ��!��� LCD '��" 170  �
�����)���	�"��!�	� 1024 x 768 %���/) 

 

 

�(��	� 3-2 ���%��� ��-�	��4!������"#�$ 

3.3.1 ,�������"#�$���#��+�.�%��������� 

,�������"#�$���#��+�.�%����������	��4!�����������	
�!������� �7�� 
Fitts� law �)� Steering law �����$"!�� 3 ����"#�$�����&� Pointing task, Linear steering 

task �)� Circular steering task ���"���)�����
�����"#�$����������)&����	���� �������

��������	� �������������)�����������)&����	� ���#!�����	������" 4������ index of difficulty �	�

����$$��!�����������	
��
��� �� �����	� 3-1 
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 �����	� 3-1 4��� Index of difficulty �	��4!������"#�$'��� �)���� 

 Testing ID 

Pointing task  2 - 5.93 

Linear steering task 3 - 25 

Circular steering task 7.85 � 56.55 

��&����?"��!� ���,�������"#�$'�
��� ,"�,���������	�(��$$�����������!
�)&���"#�$ 3 �(��$$ ��� �)��(��$$���	#��������$�&� �6@����������"#�$ (Test)  ���)'

��$6���������
��	��"#�$ (Number of testing) �)� �6@���������AB���" (Tutorial) "���(��	� 3-3 

 

�(��	� 3-3 ��!� ����)��'��,�������"#�$���#��+�.�%��������� 

��&���"�6@���������AB���" ,���������#"�����+�$��#�����$�����������
�C �)�
���	�6@� �)��%&���������?"��!� ����)�$#(����(�)�� ��&���"�6@����������"#�$ ,����������?"
��!� �������'�
��� �	���!� ����	
���	����	�1(!�"#�$�� !�������(�� � �������� ������.�'��
��� 1(!�"#�$�� !���������	������" ������+�$���	��'	����!��4���'�����AB���"����&���C��
��&���C ����������	�������,��������$�������)��	��4!����������� ��&��1(!�"#�$�������	�
�����"�$)� ��!� ����"#�$���?" �����)� �)��)�$�'!�#(�,�������)��  ���)'�#"�������
���
��	��"#�$���%���'�
� 
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3.3.1.1 ����"#�$ Pointing task 

Pointing task �	��4!������"#�$��
� multidirectional pointing task �	��!�����  

ISO 9241-9 ��&������"#�$�����'�
� ��!� ���,���������#"���2�������
��(����)�#	�"�"���(�

�	� 3-4 1(!�"#�$�� !���4!���#- �)&�������/��-�������2�����"���)��� �)��������)����!�#-/!�� 
�)�������
���2������������ �)��	��2��������)���������>'�
��� 1(!�"#�$�� !���)&������
�/��-�������2��������� �����)��������)�����#-/!���4���"�� ,��������$�����������)�
����������4	
�������2��������
�������$���
��=��6$�� ���1(!�"#�$#����0�)�����#-'*��	����
�/��-��(�.�������)� ,��������0&����1(!�"#�$������#����9� � ����1(!�"#�$���������#����9�
,��������$��������������
��	�1�"%)�"��!�)�#�!����2���������'�
���  �������'����2�����
����
��� ��)���*�'�� ISO 9241-9 ��&��1(!�"#�$������#����9��"! 25 ���
� ,����������)	���

��"�$���������!���'�
� �&���2������	'��"�)9�)� �)������������������2����������'�
� 
���1(!�"#�$���������#����9� ,��������#�!�����'�
��� ������1(!�"#�$��������#����9���$
 ���������	� �
���!�����	����%�����"�$������� �4�� 1(!�"#�$�	����������1�"%)�"�)��� !��
������ 25 ���
�0������)	�����"�$������� � �0!�1(!�"#�$������1�"%)�" 5 ���
� 1(!�"#�$����
�
�� !����������
�#�
� 30 ���
�0������)	�����"�$������� �������������"#�$�	
�	 5 ��"�$

�����","���� index of difficulty '�� Fitts� law �&� ��� ID = 2, 3, 4, 4.95 �)� 5.93  ��)��"�$ 

��&���������"#�$���#�9�#�
���!� ���,�������"#�$���?" ������)��)�$�'!�#(����(�)�� 

 

�(��	� 3-4 ��!� �������"#�$ Pointing task 

3.3.1.2 ����"#�$ Linear steering task 

Linear Steering task �	��4!������"#�$�	
����
�����"#�$�����)&����	� ��

�#!� ���	������"�� 4 ������ �&� �����)&����	�'�
�$� �����)&����	�)�)��� �����)&����	������/!�� 

�)������)&����	������'�� ��&�������,������ ��!� ����"#�$���#"��(�#	���)	���1&�1!�%&
�#	���
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$�%&
���!� ���#	�
������ �	�"!����!��"!��������	#	�'	���# %&
��	�#	�'	��"���)����&�%&
��	������ !� 1(!
�"#�$�� !���)&�������/��-���	�%&
��	������ !��)��)�����#-�6@�/!���%&���������������� ��&����������
�������)!�%&
��	�#	�'	��"���)�����������)��	�#!�#	�"�����>'�
��	�"!����!��"!�� ��'!�� �#!�#	
�"���
��&��#!�#�
�#6" 1(!�"#�$�� !���"���#-/!���!����!�)��)&�������/��-������#!�#	�"�
"���)����)��)�1����������
�����)������#-�6@�/!�� ��������	�)������/��-������#!�#�
�#6" ���
�/��-�� !�����#��1�#0(���$'�$"!���	���)&�'��#	���)	���1&�1!�"���)��� "!������	���)&���(�'��
#	���)	���1&�1!��&�'�$�' �����)�"��)&����	������$�"! ���1(!�"#�$)���#!���0(��#!�'�$
"���)��� ��&� �)������#-�6@�/!�������	���1����#!�#	�"� ����"#�$���
���
���0&�������#����9��)�
,��������$��������������
��	�1�"%)�"��! �����
�,����������!1(!�"#�$���������������"��
�	����
� ���1(!�"#�$�������"!#����9� ,�������$�������)��	��4! �
�� �����)�����#-)�$�%&
��	�
����� !���0����)��	�)���#!�1����#!�#�
�#6" �)�����"#�$���
� ����������� !�'�
� ������������ 
1(!�"#�$�� !���������"#�$������)� 4 ���
� �����
�,������"#�$���%�����"�$�������

'�������!���'�
��&� �%�����������������)&����	� �)�)"'�$�' �����)�"��)&����	������$�"! 
���1(!�"#�$���������#����9� ,��������#�!�����'�
��� ������1(!�"#�$��������#����9���$
 ���������	� �
���!�����	����%�����"�$������� �4���"	����$ Pointing task ������������

�"#�$�	
�	 4 ��"�$�����","���� index of difficulty 4�� steering law �&� ��� ID = 3, 8, 16 

�)� 25  ��)��"�$ ��&������"#�$��
���"�$)� ��!� ����"#�$���?" ������)��)�$�'!�#(�

,�������)�� 

 

�(��	� 3-5 ��!� �������"#�$�����)&����	� ���#!� �� 
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�(��	� 3-6 Linear steering task �	���"�$������� ���C 

3.3.1.3 ����"#�$ Circular steering task 

Circular steering task ��
�����"#�$�����)&����	� ���#!�,�!��	��	����	����

,�!����	�����"#�$���"#�$ 2 �������&� �����)&����	�����'9��)������)&����	� ���'9� ��&�������

����"#�$ ,���������#"��������������%&
��	��������	#	���'*��	�%&
��)����
�#	�
������ 
'�$'��������"���)���0&������
�'�$�' ����)�"��)&����	������$�"! .�������������	�0$
#	/����4!��
��0$����� !� �0$"���)������	#��#	�&� #	�'	���##�����$�����)&����	� ���'9���H��� 
�)�#	�
�������##�����$�����)&����	�����'9���H��� �	��0$"���)����	#����)	���#	�"� �"��(��%&��
$���������������)&����	� 1(!�"#�$�� !���)&�������/��-���	�%&
��	�"���)����)��)�����#-�6@�/!��
�%&�����������"#�$ 1(!�"#�$�� !���)&�������/��-�� ���������	�#����)	���#	�"������"��!
%�!����$�"���#-�6@�/!���!����! ��&���4!�)�����#-)�$�%&
��	������ !��)!� %&
��	������ !��)�#����)	���
$����������������)�����>�#!�#	�"�'�
�������	� ��������"�� �#!�#	�"���
��&��#!�#�
�#6" 1(!
�"#�$�� !��)���#!���!��(�.���������� ���������	�#����)	���#	�"������"���������1���
�#!�#�
�#6" ���1(!�"#�$�)������#-�6@�/!�������	���1����#!�"���)��� ��&�����)&�������/��-��
#��1�#��$'�$'�������� ����"#�$"���)�����0(����)�� ,�������"#�$��$�����������
���
��	�1�"%)�"�)�1(!�"#�$�� !���������"#�$�������������"�� ���1(!�"#�$#����0������
�"!#����9� ,��������������$�������)��	��4! �
�� �����)��)�$�%&
��	������ !���0�����)���#!�
1����#!�#�
�#6" �)�������"���)���������� ����������������>'�
� 1(!�"#�$�� !��
�"#�$���)���#!������������� ��&��1(!�"#�$�������"#�$�����)&����	�������)� 6 ���
� 
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,���������%�����"�$�������'������)����&�����	�����'�����������%���'�
� �)�1) ���
�����������	�������$������)")� ���1(!�"#�$���������#����9� ,��������#�!�����'�
��� 
������1(!�"#�$��������#����9���$ ���������	� �
���!�����	����%�����"�$������� �4���"	����$ 
Pointing task �)� Linear steering task �������������"#�$�	
�	 4 ��"�$�����","���� 

index of difficulty 4�� steering law �&� ��� ID = 7.85, 15.71, 31.42 �)� 56.55  ��)��"�$ ��&��

����"#�$��
���"�$)� ��!� ����"#�$���?" ������)��)�$�'!�#(����(�)�� 

           

 

�(��	� 3-7 ��!� �������"#�$�����)&����	� ���#!�,�!�����	���	� 

 

�(��	� 3-8 Circular steering task �	���"�$������� ���C 
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3.3.2 �6���*-#�!�������)&����	� 

�����������	
 !�������!�����)&������'����������	�#�!��'�
��$������������
'����6��-�!���	�#6" ����)&���	�����$�6������)&����	�'���������#���)��� �
�� �#�,%�)��� 
��&��������������)&�������������#���"���)������$�������������!��#�����$��������������
���� �������$$�6���*-��$�6������)&����	�������$$��!#��1�#��$��������!���	�#6" �%&���	�1(!
�"#�$������(!#��0������1�"�� �'��#.�%��")!��'*������������� ��&����'���������$$
�6���*-��$�6������)&����	�#����0��$6�"!"���	
 

= �����)&����	��	�#�!��'�
� !����(�.����'�$�' �����)&����	�'���������

��6��- 
= �����)&����	� !�� ����&����)���$��	�$ 

= �����)&����	�"���)�����������!���"�����$�"��9$�)���&���)!� 

�%&���	���$��)6��&����'"���)������ !���)&��$����*�	�����$�6������)&����	���!
�����#� $����*�	��6���*-��$�6������)&����	���#��1�#"!���&���!� ��&�������	�����)��� ����
�����)&����	��)������)&��������!����	1)����$ �����������'���������#���$��!�� ���#�!��
�#!���������)&����	�'���6���*-��$�6�"���)�������!����������)&����	�'��'!���!�'����6��- '�
�
���%����*�'�$�' �����)&����	�'��'!���!�'����6��-,"������'!��()���������6��-���.��1��� 
� ���'!��()"���)�����#�6��"!���'�$�' �����)&����	�'��'!���!�'����6��-����������	�����-�/9� -
��)- ���C���	)���*��)!�������-�#	
��"���(��	� 3-7 �(�"���)������"������#�!�� work space '��

'!���!���6��-,"������"��!'!���!���)&����	����'�$�' �����)&����	�'��#�,%��)�����'��'��
��6��- 

 

�(� 3-9 '�$�' �����)&����	�'��'!���!���'*��	����� �	��������-�/9� -��)- ���C 
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����(��	� 3-7 #�6��"!����������$$�6���*-"���)�����������$����*�	�'�$�' 

�����)&����	�'��'!� ��#�,%��)�'!� ������'���	�����-�/9� -��)-�	� 5 ��
��)���%&����!�� 95 

����-�/9� -#����0�4!����"! �)��6���*-"���)���������!�� ��������"!#�"���%&����!�6���*-�	�
#�!��'�
�#����0�����$����4!���'��$6��)�	��	'���������������"! 

�������	
��&��%����*������)&����	��� �'������'���)!�%$��� ,"��� �����'���	
�����)&����	�#�����5��)!��'!� ��$��%�$ "����
������)&����	�/��������#��	�����)&����	���'*�����
��������������
������)&����	�.��������$�	� �
�:����$���������6��- (sagittal plane)  

��&����������"#�$�	
��
�����"#�$��'!��()�$&
�� !��%&����
�$����"7����
�������$$����")�� �)�������)&����	��	��)&���4!�����
��)���	����� �)���&��%����*���&����'
 ���C�	��)�����'!�� !� �)���	�#�"�)!����$��&����'"���)����&��)�������)&����	�'��������� /���
�(��$$�����)&����	�"���)�����
��	��6!����#�����$�������� ��&�����������	�$��	�$�(��$$���
��)&����	�'�����0	$���������$ Workspace '����!�1(!�"#�$,"��!�����'!��()���������6��-�	�

����-�/9� -��)-�	� 5 .��1��� �.  ���(��	� 3-7  ��%$����)���	������#��	�����$�6����	����

���'��'�0	$������$ 10 �/� ��� � ������"#�$�$&
�� !��	
����)&��/&
��������#�����$�"9�'��"

��)!� 11 ��
� �	�������'�0	$������$ 10 �/� ��� � /�����
��������'��"�)9��	��	'�����!�� )�"

��������"�"��)� ���'�$��)&����6���*-�4! Brushless servo motor �	��!� Parker �6�� IBE 232F 

 ����$��	��-�"'��" 1:15 ��)��%)�����'����� ��-�&� DC power supply'��" 48 ,�) - 2.5 

������- �	��!� Kepco �����$�6���� ��-�4!,������ iWare �	�����$�"�KL����-'����� ��-#��

#�55�*1���4��� RS 232 ���)���	�"��(���.��1��� � 

 
 �(��	� 3-10 ������)����������=M��������'�����	��	������� ��'��"����-�/9� -��)-�	� 5 
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�(��	� 3-11 �6���*-��$�6������)&����	�#�����$����"#�$�$&
�� !� 

 

�(��	� 3-12 ����"#�$�$&
�� !� 

3.4 �����������	��� 

��#���'��'�
� ������"#�$�	
����	����#�#�������1(!�"#�$ �)���	��1(!�����
���1(!��$�6�����"#�$ �%&����!���� ������'!��� '�
� ��������"#�$�$&
�� !��	"���	
 

1 1(!��$�6�����"#�$��"� �	��#0���	��"#�$  ���"(������	�$�!��'��

�6���*-�	��4!������"#�$����"!��� �6���*-��$�6������)&����	� ���%��� ��- 
��)������%)����� ��
� !�   
2 1(!��$�6�����"#�$�+�$������"#�$��!1(!�"#�$,"�#���'� 

3 1(!�"#�$�������")���4!,�������%&�������6!���� ����")����������
� 3 

����&� multidirectional pointing task, linear steering task �)� circular 

steering task �4!��)������* 5 ���	 

4 1(!�"#�$�����!�)�$��6���*-��$�6������)&����	� 1(!��$�6�����"#�$#�����!

�6���*-$����$��!��!�'��1(!�"#�$��)&�����
����)�"!��������9���$�	������" 
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5 1(!�"#�$������������"#�$ ,"�1(!�"#�$#����0�)&���������"�����9�"! ��&��

1(!�"#�$�������")����$��
� 3 ����)!� 1(!��$�6�����"#�$����������)	���

������9��������)&����	�'���6���*-#�!�������)&����	� 1(!�"#�$��������������
��!���(�$��6���*-"���)��� �)�����%��#�� ���
���)������* 3 ���	 

6 1(!�"#�$�����������"#�$�	����
��)�"���������/
�� ��'�
� ���	� 5 ���������

�"#�$��$ ����&����'�&� ������9��������)&������'���
����)��	���� 0, 20, 

40, 60 �)� 80 ��$ �����	 

7 1(!��$�6�����"#�$��6"���������'���6���*-��$�6������)&����	� �?"

,�������"#�$  ���#�$'!��()�	��"!�������")�� ��
�����#�9�#�
�'�
� ��
����"#�$�$&
�� !� �4!��)���
�#�
������* 120 ���	 ����#�#���� 1 �� 

3.5 ���
��� 
����!��!�����"�����%���� �� 

�����������-'!��()�	��"!���,���������%��� ��-�	��4!�"#�$���#��+�.�%���
���������4!,������ SPSS version 9.0 /�����
�,���������#0� ��	���
��	������4!������%���)�� 

,"�����������������-1)'��������9�������%��������)&��������!��������	���"�$�������'��
���� � ������  ����)��	��4!����������� �)����������������������� /�����)��	��4!�����
����������
�'!��()�$$#��)/�����"�������)��	��4!������������ �)����
� #����������������
��
�#�"#�������1�"%)�"�	����"'�
�������")�������46" 

���$������� � ���'����)��	��4!����������� �)�����������������������
������"���1)'��������9�������%��������)&��������!��������	���"�$�������'������ � ���
������4!�����������-������������$$ 2 ��� (two-way analysis of variant, two-way 

ANOVA) ��
���+	������#0� ��	��4!��������	�$��	�$����:)	���)������������'��1))�%+-��&��

 ����� !��	������� 2 ��&����' �)��	������� 1  ����� !��	��'!����	1) ������")���	�%&
�7��

�)��"!��$��������$�4!����	�#6" ,"��	�#��6 �7��������"#�$'�������������-�����������
'��� �)� ������&�   /�����#����0$���"!����	�)6���"�)6��������	��)6"�����&����''��#�� �7��
�&��	����)�������%�#(��-�����$��"�����:)	��'����&����' ���C �	��*	�"$!���	�����:)	��� � ������
����&��  

�����)1)'����������� Pointing task ���4!��+	�����$6 ���	�� � �������)6��

,"��4!��+	 Scheffe method /�����
���+	����	������#��	�#6"�����������-������	�$��	�$��$6

��&����'����")���	���!���� � �������)6������*	�	����������")��� �)���&����'���������� ���
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��
���&����'�	������#��	�#6"#�����$��� pointing task /����	����� ����������������� ,"��	��+	���

���&�������	�$��	�$������������ � �������'������:)	���	��"!���46"����")���)��������
� � �����"���*-�	����"'�
������������*/����"!���#���� 

Different expected =  Fn
nn

MSE
a

)1()
11

(

21

−×+×  

 MSE = mean square error =  
err

Df

SSE
  

 ,"��	�   ∑∑ ∑ 









−=

i j j e

j

ij
n

T
xSSE

2

2  

  Dferr = degree of freedom '�� error 

 n1,n2 = ������ ��������)6���	� 1 �)� 2  ��)��"�$ 

 na = �������)6�� 

 F = ��������� F (��&� F distribution) ,"��	� 
b

a
F

b

a
ba 2

2

, χ
χ

≡  ��&��9�&���� F ��
�#�"#���

'�������#-�#���-���)��#�����"!��������#�� �	�������#�� a �)� b ���"���)���#����0��?"�"!

��� ���� ������#&�#0� ������� 

#�����$����")�� Linear steering task �)� Circular steering task ���4!���

��������-'�� Tukey Method /�����
���+	�����$6�)6���	�� � ������)6���&��������	���#����5�	��	

���#��+�.�%����	�#6"� ����"!��$��*	�	�������")���������������
� ����'!���$��&����''�����
�")����
�#���	
�%����	 �������������� ,"��	�)������"	����$��+	 Scheffe � ��������� � ���

��"���*-��������$ 

Different expected =  
r

MSE
DfTreatmentq err ),(  

 MSE = mean square error 

 r = ������ ������� 

 Dferr = degree of freedom '�� error 

 Treatment = �������)6�� 

 q = ��������� q (��&� studentized range  distribution) /�����
����������'��4���

'��'!��()���"!����������*��������*'��#����$	����$��� �7�� 

�������������-�$$��$�)6�������&����''�������
�#���(��$$�����
���	�$��	�$���������&����'�	��	�����!������9���$��������)���&����'����������$$�� � �4!���
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��������-,"��4! contrast /�������
������"�)6��'!��() ��#�� �7���	� �
�'�
��%���� �������

��������-�$$ ANOVA 

���%����*������ � ���'��'!��()��%����*����������#����5 (sig) ��&�$��

 ������	�������� p /��������#����0%����*��"!��� '!��()��
�#���)6��� � ������������	���#����5�9

 ����&����� sig ��&� p ��
��	��� ������� 0.05 �	���� sig=0.05 �#"�0����"�$�����������	� 95% 

��������'�� sig=0.05 �&���������)�"��)&�����������	�$��	�$����� � ���'��'!��()���

���� 5% ����	
��
����#(�#6"�	������$�"! ��&����� sig �	���)")��#"����'�$�' '�������)�"��)&���

���������	�$��	�$�	
�	���)")� /����������!�������"!���'�
����'!��()��
�#���)6��� � ������ 
��������9"	,������ SPSS �	��4!�������������-1)���
��	
���#"���� sig �%	����� 3  �������/���

�������������� sig �	��	����!������ 0.0005 ��0(��#"�"!����� sig = 0.000 

3.6 &�����"�����%�&�����	
����
������ 

3.6.1 1)����$ ����� Pointing task 

��&��������������#��%��+-���������)��	��4!������������)� index of difficulty 

�	�������9��������)&����	��������� "!����+	���#����0"0�� %$�������#��%��+-���������)��)�
���������
��� �� Fitts� law ������	���#����5 (R2 = 0.8 F 0.98 ) 

�%&����!�����������-'!��()�	�� �)����������
��� �7���"	�������������"��!
��)� ����������	���������$��)��	��4!�������)&����	����"!����"�$������� (index of difficulty) 

��&��%����*������)� ������������"! ����:)	���)�#����$	����$��� �7����� �����������9���
�����)&����	��	������"�)���"�$�������'����� (index of difficulty) �	���"�� �����	� 3-2 

�)�������
�������%����*�1)����$�������4!����6���*-��$�6������)&����	�,"�������
���	�$��	�$��)� ���������'��������������������������� ���� ���$�����������&���4!���
�6���*-��$�6������)&����	� �"!1))�%+-"���(��	� 3-10 �)� �����	� 3-3  
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 �����	� 3-2 ����:)	���)�#����$	����$��� �7��'����)� ���������'�� Pointing task 

 

 

 �(��	� 3-13 ������	�$��	�$��)� �������������������� Pointing task ����������������

 ���� � (status=0) �)���&���4!������&�����$�6������)&����	� (status=1) 
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 �����	� 3-3 ������	�$��	�$����� � ���'����)� ��������������������������� � �)����

�4!�6���*-��$�6������)&����	� #�����$ Pointing task 

 

����(��	� 3-10 ����9������&��������%�!����$�4!����6���*-��$�6������)&����	� 1(!

�"#�$���4!��)�������������!����������������� � �6���"�$������������������ �)���&��
��������������-����� � ��������������:)	����
�#��"!����+	��� contrast test %$��������
�#���	

����� � ������������	���#����5 (sig <0.05  �� �����	� 3-3) �����
�������%����*�1)����$

'������%���������9��������)&��������!��$������� �����#��+�.�%��������� ,"����'!��()��
%)9� ���K�"!1)"���(��	� 3-11 �)�1)�����������-����� � ��� �� �����	� 3-4  
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�(��	� 3-14 �����)� ����������	���"�$������9��������)&����	� ���C #�����$ Pointing task 
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 �����	� 3-4 ������	�$��	�$��)� ����������	�������9��������)&����	� ���C #�����$ Pointing 

task 

 

��� �����	� 3-4 ��&�����������	�$��	�$��)� ��������������������.��� !

������9��������$�6������)&������'��'��	� ������ %$��� ��)� ����������	�������9� 40 ��$

 �����	� � ���������	���#����5��&����	�$��$��)� ����������	�������9� 60 ��$ �����	 

(sig=0.01) �)���)� ����������	�������9� 80 ��$ �����	� � ���������	���#����5��&����	�$��$

��)� ����������	�������9� 60 ��$ �����	 (sig=0.01) �4����� ��������9"	���%����*�'!��()���

 ���� 3-4 �������9�0��)���*������ � ���'��'!��()������ ���#0� �����	��+	�������#��'!��()
�%&����!���� ������'!��� ��	����+	���"���)������ Homogeneous subsets "���#"��� �����	�  3-5 

Homogeneous subsets ��
��������#��'!��()���(�'���)6�� /������'��#��4��.�����)6����0&�

�������	����� � ���������#0� � ���'!��()�(��"�	�� � ������������	���#����5 '!��()��
�#����0(�
��"��!��(���)��)6�� ��&���������:)	��'����)� ����������	�� �)�������9��������)&����	���� ����
�	� 3-2 ����	��)��"�$����!����������"!��� �	� 80 ��$ �����	���	����!���	�#6"  ��"!�� 40, 20 ��$
 �����	 �)��	� 60 ��$ �����	��)� ����������	��4!���������	�������	�#6" �)���&��%����*�'!��()
��� �����	� 3-4 ��%$���'!��()�	� 80 ��$ �����	 ��� � ���������	���#����5��$'!��()�	� 60 ��$ ��
���	�4���"	����$'!��()�	� 40 ��$ �����	 "����
� '!��()�	� 80 ��$ �����	�)� 40 ��$ �����	�����(�
�)6���"	������� subset �	������ �)�����(���)��)6����$'!��()�	� 60 ��$ �����	 /�����(� subset �	�
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#�� ��'*��	�'!��()�	� 20 ��$ �����	����	����� � �����$'!��()�"�)� "����
�'!��()�	� 20 ��$ ��
���	�����(���
�#���)6�� 

 �����	� 3-5 ����$���)6�� Homogeneous subsets  ��'!��()��� ���� 3-4 

 

 ������&��%����*����������������������� /�����%����*�������������
��	�1(!
�"#�$���#����0�	���$��)6 ����2������	������"�"! ,"�%����*���
��!��)� ��&����$���'!��()
�	��"!�������")���)!���#�6�'!��()�"! �� �����	� 3-6 "���	
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 �����	� 3-6 �!��)�'������1�"%)�"�:)	��'��� �)���&����'��������� #�����$ Pointing task 

 

���'!��()�� �����	� 3-6 ���'!��()"���)�����������#�!�����K �)����	�$��	�$

����� � ������������&����' ���"!���K����!��)�����1�"%)�" ���(��	� 3-12 �)�1)���

���	�$��	�$ �� �����	� 3-7 /�������(��	� 3-12 ����9������&���%���������9��������)&����	��)!������!

1(!�"#�$������1�"%)�"���'�
�#(�#6"�����* 3.5 ����-�/9� - ��������9"	��&��������%����*����

#0� ��)!�%$�������� � ���"���)�������	���#����5 (sig >0.05)  
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�(��	� 3-15 ������	�$��	�$���������������������� Pointing task �	���"�$����%���������9���

�����)&������ ���C 

 �����	� 3-7 1)������	�$��	�$�����������������������	�������9��������)&����	� ���C '�� 
Pointing task 
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#�6��"!�������%��������)&����	���!��$�������'��1(!�"#�$��
��������!1(!�"#�$
����������.� pointing task �"!��9�'�
� ��!��������������$����#��%��+-�	�4�"����������

������9��	��%���'�
� �����#��+�.�%��������� � �1(!�"#�$�4!��)�������������%���'�
��	�������9� 
60 ��$ �����	 �������	
�����������������������	�)")����"!�	����� � ���������	���#����5 
���������������� ���� ��)������������&���4!�6���*-��$�6������)&����	� 

3.6.2 1)����$ �� Linear steering task 

��&��������������#��%��+-���������)��	��4!������������)� Index of 

difficulty �	�������9��������)&����	��������� "!����+	���#����0"0�� %$�������#��%��+-�������

��)��)����������
��� �� steering law ������	���#����5 (R2
= 0.95-0.99) 

��&��������%����*������)� ���������%$�������:)	���)�#����$	����$��� �7��
�$�� ����&����'#����0#�6��"! �� �����	� 3-8 �����
�%����*�1)����$'������4!����6���*-

��$�6������)&����	�,"����������	�$��	�$��)��:)	��'��������������������������� ���� ���$
�����������&���4!����6���*-��$�6������)&����	� �"!1))�%+-"�� �����	� 3-9  

 �����	� 3-8 ����:)	���)�#����$	����$��� �7��'����)� ���������#�����$ linear steering 

task 
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 �����	� 3-9 ������	�$��	�$����� � ���'����)� ��������������������������� � �)����

�4!�6���*-��$�6������)&����	� #�����$ Linear steering task 

 

��&�����������	�$��	�$����:)	����
�#��"!����+	��� contrast test /����"!1))�%+- ��

 �����	� 3-9 %$��������
�#������	����� � ���������	���#����5 (sig =0.892  �� �����	� 3-9) 

�����
�������%����*�1)����$'������%���������9��������)&��������!��$������� ��
���#��+�.�%��������� �"!1)"���(��	� 3-13 �)� �����	� 3-10 
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�(��	� 3-16 �����)� ����������	���"�$������9��������)&����	� ���C '�� Linear steering task 
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 �����	� 3-10 ������	�$��	�$��)� ����������	�������9��������)&����	� ���C '�� Linear 

steering task 

 

��� �����	� 3-10 ��&�����������	�$��	�$��)� ��������������������.��� !

���������9��������$�6������)&������'��'��	� ������ %$��� ��)� ����������	�������9� 20 

��$ �����	� � ���������	���#����5��&����	�$��$��)� ����������	�������9� 60 �)� 80 ��$ ��

���	 (sig=0.000) �)���)� ����������	�������9� 40 ��$ �����	� � ���������	���#����5��&��

��	�$��$��)� ����������	�������9� 60 �)� 80 ��$ �����	 (sig=0.036 �)� 0.009) �4����� 

�%&����!���� �����%����*�����#��%��+-"���)��������������"'!��()��
� Homogeneous subsets 

�4���"	����$ Pointing task /������ ����"���)�����%$�������%��������)&�������	� 60 �)� 80 

��$ �����	 ���4!��)� �������������������������������%��������)&�������	� 20 �)� 40 ��$

 �����	  



 47 

 �����	� 3-11 ����$���)6�� Homogeneous subsets  ��'!��()��� ���� 3-10 

 

��� �����	� 3-11 ����9��"!�����&����$�6������)&��������!��$�������#���)���

'����"!��������9� ��� (20 �)� 40 ��$ �����	) 1(!�"#�$���4!��)� ��������������������

�!��������*	�	���$�6���!��)&������"!��������9�#(� (60 �)� 80 ��$ �����	) 

 ������&��%����*����������������������� /�����"�)����*T-�"	����$ Pointing 

task ��#����0#�6�'!��()�"! �� �����	� 3-12 "���	
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 �����	� 3-12 �!��)�'������1�"%)�"�:)	��'��� �)���&����'��������� Linear steering task 

 

���'!��()�� �����	� 3-12 ���'!��()"���)�����������#�!�����K �)����	�$��	�$

����� � ������������&����' ���"!���K����!��)�����1�"%)�" ���(��	� 3-14 �)�1)���

���	�$��	�$ �� �����	� 3-16 /�������(��	� 3-14 ����9������&���%���������9��������)&����	��)!����

��!1(!�"#�$������1�"%)�"���'�
���&������	��"�$�������#(� �)���������1�"%)�"�!��)��	�
��"�$������� ��� ��������9"	��&��������%����*����#0� ��)!�%$�������� � ���"���)�������	
���#����5 (sig >0.05)  
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�(��	� 3-17 ������	�$��	�$�����������������")���	���"�$����%���������9��������)&������

� � ������ 

 �����	� 3-13 1)������	�$��	�$�����������������������	�������9��������)&����	� ���C 

 

#�6��"!�������%��������)&����	���!��$�������'��1(!�"#�$��
�����	1)����$�	��	
���#����5 ���������������.� Linear steering task � ����%����*����	�$��	�$'*��	��4!���

�6���*-��$�6������)&����	���%$��������)&����	��	�������9� ��� (20 �)� 40 ��$ �����	) �������!
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1(!�"#�$�4!��)� ���������������������!�����������)&����	��	�������9�#(� (60 �)� 80 ��$ ��

���	)  

3.6.3 1)����$ �� Circular steering task 

��&��������������#��%��+-���������)��	��4!������������)� Index of 

difficulty �	�������9��������)&����	��������� "!����+	���#����0"0�� %$�������#��%��+-�������

��)��)����������
��� �� steering law ������	���#����5 (R2
=0.90-0.99) 

��&��������%����*������)� ���������%$�������:)	���)�#����$	����$��� �7��
�$�� ����&����'#����0#�6��"! �� �����	� 3-14 �����
�%����*�1)����$'������4!���

�6���*-��$�6������)&����	�,"����������	�$��	�$��)��:)	��'���������������������������
 ���� ���$�����������&���4!����6���*-��$�6������)&����	� �"!1))�%+-"�� �����	� 3-15  

 

�(��	� 3-18 ������	�$��	�$��)� �������������������� Circular steering task ����������

������ ���� � (status=0) �)���&���4!������&�����$�6������)&����	� (status=1) 
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 �����	� 3-14 ����:)	���)�#����$	����$��� �7��'����)� ���������#�����$ Circular steering 

task 

 
 

 �����	� 3-15  �����#"�������	�$��	�$����� � ���'����)� �������������������������

�� � �)�����4!�6���*-��$�6������)&����	� #�����$ circular steering task 

 
 

����(��	� 3-15 ����9������)� �������������������� ���� ����!���������

������%�!����$�4!����6���*-��$�6������)&����	� ��&�����������	�$��	�$����:)	����
�#��"!��
��+	��� contrast test /����#"� �� �����	� 3-15 %$�������� � ���"���)�����
��	���#����5 (sig 
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<0.05  �� �����	� 3-19) �����
�������%����*�1)����$'������%���������9������

��)&��������!��$������� �����#��+�.�%��������� �"!1)"���(��	� 3-16 �)� �����	� 3-16  
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�(��	� 3-19 �����)� ����������	���"�$������9��������)&����	� ���C '�� Circular steering task 

 �����	� 3-16 ������	�$��	�$��)� ����������	�������9��������)&����	� ���C #�����$��� 
Circular steering task 

 

��� �����	� 3-16 ��&�����������	�$��	�$��)� ��������������������.��� !

���������9��������$�6������)&������'��'��	� ������ %$��� ��)� ����������	�������9� 60 

��$ �����	� � ���������	���#����5��&����	�$��$��)� ����������	�������9� 20, 40 �)� 80 ��$

 �����	 (sig=0.000, 0.025 �)� 0.000  ��)��"�$) �%&����!���� �����%����*������"'!��()��
� 
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Homogeneous subsets �4���"	����$ Pointing task �)� Linear steering task /������ ����

"���)�����%$�������%��������)&�������	� 60 ��$ �����	 ���4!��)� ��������������������

�����������%��������)&�������	� 20, 40 �)� 80 ��$ �����	  

 �����	� 3-17 ����$���)6�� Homogeneous subsets  ��'!��()��� ���� 3-16 

 

��� �����	� 3-17 ����9��"!�����&����$�6������)&��������!��$�������#���)���

'����"!��������9� ��� (20 �)� 40 ��$ �����	) 1(!�"#�$���4!��)� ��������������������

�!��������*	�	���$�6���!��)&������"!��������9�#(� (60 ��$ �����	) 

 ������&��%����*����������������������� /�����"�)����*T-�"	����$ Pointing 

task �)� Linear steering task ��#����0#�6�'!��()�"! �� �����	� 3-18 "���	
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 �����	� 3-18 �!��)�'������1�"%)�"�:)	��'��� �)���&����'��������� #�����$ Circular 

steering task 

 

���'!��()�� �����	� 3-18 ���'!��()"���)�����������#�!�����K �)����	�$��	�$

����� � ������������&����' ���"!���K����!��)�����1�"%)�" ���(��	� 3-17 �)�1)���

���	�$��	�$ �� �����	� 3-19 /�������(��	� 3-17 ����9������&���%���������9��������)&����	��)!����

��!1(!�"#�$������1�"%)�"�!��)� ��������9"	��&��������%����*����#0� ��)!�%$�������� � ���
"���)�������	���#����5 (sig >0.05)  
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�(��	� 3-20 ������	�$��	�$�����������������")���	���"�$����%���������9��������)&������

� � ������ 

 �����	� 3-19 1)������	�$��	�$�����������������������	�������9��������)&����	� ���C 

 

#�6��"!�������%��������)&����	���!��$�������'��1(!�"#�$��
��������!1(!�"#�$
����������.� Circular steering task �"!4!�)� ��!��������������$����#��%��+-�	�4�"����������

������9��	��%���'�
��)����#��+�.�%��������� � �1(!�"#�$�4!��)���������������'�
��	�������9� 
60 ��$ �����	�4���"	����$ Pointing task �������	
���%$����� � ����	�4�"�����	�����$����

���������������������������������� ���� ��)������������&���4!�6���*-��$�6������)&����	� 



����� 4  

����	
�� 

��������	
�����
�����������
���
���� �������	
�����������
�����������
��������
���������  ����
���!���
�"#�����"�����$��������%�����
��&�
�'�����(�"�����'��
���	
�	
 
60 ���������	  ����
��"#�����"�����$�����������+�,�-�	
,��!��.
��#�
�+��'�%
�  ������,���
�$������������������������������
��"���������/ ���0�� ���0������'��
���	
 '�����(��	
"#� 
�����1%�'���,�����,���+��0����	
"#�"������
����2���� ���3.!���������!���������
�����
����������� +�,��,�!��	,�"��������������������/�!�����1%������"����	� 

4.1 �
�����
��������������������	
�� 

���1���!
�'4�����������'�����	

���	�'����������3.!'���
��&��54���
'�����(�"�����&�
�����'��
�����������,�����!
��5�6�&����$���� 6�,"��#���'�����(��	
���3,4
,��
����1'���!
��5�6�&����$������� 7%
�'�����(���������'�� 40 ���������	 

���0�������
��
$�������������'�����	���������������
����������� 
�����'�� �����
����!
��5�6�&��������������3,4+�,����������� Fitts� law 0�! Steering 

law  ����
���!�$�������'��&������4+�,"#����+��0����	
1����	,��%�� �.!�	
�$������������ ��

��
���!����������������.4'��'������'��
���	
�#����	,���������
����������� 0�������.4
����������2������.4�	
1��&�9��"��
��������'��
���	
7%
��	���0���	
����!
�����%�� 

4.2 ������� 

 ������������
����2��&�
����������	
�$�����,��"���������,��	,����0�!��������,
�����'	,� �$���� 10 '� ��,��!����� 22-28 �: ��!������, #�, 8 '� 0�!�;�� 2 '� �������
��� 

10 '�  ������������
����������	��!
����.4"����"#�'��&������4����0�� 10-16 �: 0�!"#�

'��&������4�-�	
,����! 2-8#�
�+��"�#��� 6 ������	
 �����  

4.3 �������������������	
�� 

�����.4�	
"#�"������
���	��!��������������.4�	
"#�"������
����������� 
0���!�	����������������.4'��'������'��
���	
 0�!&�9��+��0����	
"#�"������
�� 
'��&������4�	
"#�"������
���	'�.���3.!�������#�������
����������� �������	��!�&�
�
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�����.4'������=������
	,�"�������
�
��'� �&�
��� ���!������
	,�������	
�����%��"��.!�	

�$������
�� 

4.3.1 +��0�����
����!
��5�6�& 

+��0����	
"#���
����!
��5�6�&����$����,��'�������� Fitts� law 0�! 

Steering law +�,�	
�	�����������"������!
�����%������	� 

– ����'�� index of difficulty �	
"#�"������
���&�
�"��'��� ��&���

���
���������$�������
$���(����� 0�!"#�����"������
�����,�� 
+�,�-&�!�,���,�
�'�� index of difficulty 
$�������� circular steering 

task �&��!��� ����
��"#��������0�!�	'���0���,$�"�����$�����
$����

�	
��� Circular steering task .. �!���'���,�� 57 �����������1�����

��2�����	
������?�,���3!'���������� '�� index of difficulty �	


���	
,�0������	'���������� 4-1 

������	
 4#1 '�� index of difficulty �	
"#�"������
��0���!��� 

 Testing ID 

Pointing task  2 , 3 , 4 , 4.95 , 5.7 

Linear steering task 3 , 10 , 17 , 24 

Circular steering task 6.3 , 18.85 , 31.42 , 47.12 

 

– ��������+��0���@A����+�,�&�
�����$�������"�+��0���@A����  ��
��
���!���������$�����	
��������������
��"��!������	
@A���� 
�!������	
�$����@A�����!�	'$��5���,"�����$������!������, 

– ���	
,�
	�	
"#�"�+��0���Linear steering task 0�! Circular steering 

task +�,���	
,�
	&����������
	��$�����������2�
	�������� 0�!
	���&���

�
��������
	�����2�
	���	����  
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���%&' 4-1 Linear steering task ()* Circular steering task %&'+,-+./01%2345 

4.3.2 �����.4
��������'��
���	
 

4.3.2.1 ������'��!�4���0������'��
���	
 

����������	
��������������
����������� &���������.4��������'���!
����
'�����(�"�����'��
���	
����,������, 40 ���������	 0�!�������	
��
�
��'��!���������'��
���	


���0���BC�����,���!��!����"�����������
����0�!
����'������
�,���"��"��.!��
��  ������,�%�
���&����.����3.!����'��
���	
�	�'���� �&�
������0������'��
���	
�	
����!
�����%�� 7%
����0��
����'��
���	
�	
1���$���&����.����0�� ����BC�����,����2�������	 ����'��
���	

��������������2�
�
����� 0�!����'��
���	

��������������2��
��+'����2����  �������'��!�4���0������/��2�����	� 

����BC�����,��0������� 

 

����	
 4-2 ����'��
���	
�	

�����%����2��������	,���� �!,!����'��
���	
����������'��	
��
��,�� �	


����4�7(��4���4�	
 5 (����,��0����2��7�������) 
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����	
 4-3 '���
�������������	
1��,��%��
$���������'��
���	
0���BC�����,����2������ (����,

0��������2��7������� 0�������2����,�!����$�0�����	
�'��
���	
��) 

���0������'��
���	
�	���2����0���	
 ��'�'����', �������
��������'��
���	

������������	'���
���7��7��� ����������'��
���	
�!1���$�������,'���
�����+�F!  

 

����BC�����,��0�����	 

 

����	
 4-4 ����'��
���	
�	

�����%����2����	��	,�����!,!����'��
���	
����������'��	
��
��,���	


����4�7(��4���4�	
 5 (����,��0����2��7�������) 
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����	
 4-5 '���
�������������	
1��,��%��
$���������'��
���	
������2����	 (����,0��������2�

�7������� 0�������2����,�!����$�0�����	
�'��
���	
��) 

���0������'��
���	
��2�������	�!��2�5���#���
��'�����������'��
���	
�����
'������������'��
���	
��2��������� ������?%�3�����
��������'��
���	
&�����	���,�����	


����1
��������'��
���	
��2�������	��� �������������#�� ������������4 ��2���� 

 

����	
 4-6 �����	

����1
��������'��
���	
��2�������	���  

 

����	
 4-7 ����'��'������'��
���	
�	
�������������������4 
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����'��
���	
����������2��
��+'�� 

 

����	
 4-8 ����'��
���	
�	

�����%����2��
��+'�����	,���	,�����!,!����'��
���	
����������'��	
��
�

�,���	
����4�7(��4���4�	
 5 (����,��0����2��7�������) 

 

����	
 4-9 '���
�������������	
1��,��%��
$���������'��
���	
��2��
��+'�� (����,0��������2�

�7������� 0�������2����,�!����!,!�	
�'��
���	
���
����"������) 

���0������'��
���	
��������2��
��+'���!�	���3.!�����������
�0������ ��?�	
'���+'��"�����'��
������	
����!
��	

��
$�����0���!��''�'���
��+'���	
�	��?�	'���+'���������
'���,�����������������''����� ����'��
���	
���������!��!���� ����������,��������'��
���	
�	

��2� cycle ����0�������0�!���	  ����
���!�	����'��
���	
������,���,����
$��������0�����

�'��
���	
��!�6��	� �������	����
�&����.�����'��
���	
������������� ����
���!
���������������
��� ����
���!1��,����,������.	�'��
���	
��2� cycle �$�"�������
!
������.
!+&����,���� 

�$�"���	+���
���
�,����
$���������'��
���	
������2������0�!���	 
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����'��
���	
����������2��
����� 

 

����	
 4-10 ����'��
���	
�	

�����%����2��
��������	,���	,�����!,!����'��
���	
����������'��	
��
�

�,���	
����4�7(��4���4�	
 5 (����,��2��7�������) 

 

����	
 4-11 '���
�������������	
1��,��%��
$���������'��
���	
��2��
����� (����,0��������2�

�7������� 0�������2����,�!����!,!�	
�'��
���	
���
����"������) 

���0������'��
���	
��������2��
������!������������0����������&�����	,� 
����'��
���	
���������!��!���� ����������,��������'��
���	
�	
��2� cycle ����0�������0�!���	

�#����	,��������'��
���	
��������2��
��+'�� ���
�&����.�����'��
���	
������������� ����
���!

������������������ ����
���!1��,����,������.	�'��
���	
��2� cycle 0�������������'��
���	


����������2��
��+'�� 

���
�&����.����0������'��
���	
��������0���&�������0������'��
���	
�	
�!
����� ���$�������,�	

��'������'��
���	
��������2��
��+'�� �������'������'��
���	
��������2�
�
����� ������0�������.4
��������'��
���	
�%�����������0������'��
���	
����
����2����� 
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4.3.2.2 ������0�������.4
��������'��
���	
 

��������	
�$����&����.����0������'��
���	
0��� �%��$����
���������.G4"�
���
���������.4'��'������'��
���	
����	� 

– �����.4�!���'��"������� ����
���'��
���	
��������2��
��+'������
�
����� 

– ����'��
���	
��������0�!��7��,�!
������ �����'�����
������,����� ��
7��,�!������0�!"����������� ���
������������ ��7��,�!,����� 

 ������,����$����?%�3������	
�!������'��������������
�� 0�!&���������	


����1
��������'��
���	
0������������	
�	���"#�����,���0&�����,�	�,�� 3 ��!�6�'�� 1 ���� 

crank slide 2 ���� crank rocker 7%
���2� four bar linkage ��!�6���%
� 0�! 3 ���������	�,� 

7%
�0
��"�����	
 4-12  ������,��������"#����� Crank slide ��2�����
��������'��
���	
0����

����0�!�����"#� Spur gear ��2�����"����
��������'��
���	
������?
$�������7��,0�!����� 

 

����	
 4-12 ����
��������'��
���	
���������� 3 ��!�6� (���
���� 7��, crank slide ���� crank 

rocker 0�! ��� �����	�,� ����$����) 

���������'��!�4����'��
��������������,���3,4�������	
 4-8 0�! 4-10 &����

�!,!����'��
���	
�������	
����!
�'����!��. 30 �7������� 0�!�	�����	,���!��. 25 1%� 30 

��?�  

4.3.2.3 +'��
������������.4'��'������'��
���	
 

�����.4'��'������'��
���	
��!������,���� crank slide �	
�$������	

�������

�'��
���	
������0�! linear slide 1 #�� "#����'����� rack 0�! pinion �&�
����	
,�����'��
���	
���



 64 

�#���
����������2��#����� 0�!"#� spur gear "����
��������'��
���	
������?���
$���������7��,

0�!������� 
 

 

����	
 4-13 �������
��������'��
���	
������ 

 

����	
 4-14 �������
��������'��
���	
������? 

���
���$������������.4�!"#� Timing belt �&�
��=������������ slip 0�!���
��

�$������2����,��������	,� ���
��$����������������.4����/�������,���0����!������0������
+�,�����������.4'��'������'��
���	
�������	
 4-15 
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����	
 4-15 6�&������������������.4'��'������'��
���	
 

+'��
������������.4'��'������'��
���	
��������,�����
����1���0���	
�������
����������3,4��� �%������$�����
���'���0�(�0��"�����+'��
������������+�,����&�
��
����
��$����� �&�
�������+�����4��������$�����0�!����'��
���	
��������3,4 �������	�,��"#�����H�
��� Linear slide 2 #���&�
�������+�����4�	
����������
��0����,�� pinion 

 

����	
 4-16 �����.4'��'������'��
���	
7%
� �������
���'���0�(�0��0��� 
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����	
 4-17 �����.4'��'������'��
���	
�	
���
�������� 

4.3.2.4 ������
��
���������$������������.4'��'������'��
���	
 

��������
�������.4'��'������'��
���	
�	
'�����(�"�����'��
���	
���,
'�����(�"�����'��
���	
����/&�����	 ���!������/ 3 ���
���	
�����%��  ���!�������������0�� 

�
	,� 6��!����$�����	
����"����	��$��������!��
���$���� 0�! ����$�����	
��������	,��	
'�����(�

�� 

�
	,��	
�����%����������.4'��'������'��
���	
�	0�����$�������������� 2 0����

'�� Rack & pinion 0�! spur gear ���
�������������.4���� 2 #�������	�������������?���

�������� �����������	
���
����.4����$�"������ backlash 7%
��!�$�"�������
	,�����.!�	
�'��
���	
 

�
	,����������!���
����,�����
��$�����'��
���	
���,'�����(� 30 ���������	 0�!����%�����
�,/���
��&�
�

'�����(�"�����'��
���	
��������.4 

�����.4'��'������'��
���	
�������0���	
������0����� �	���
���$�������
������4���,
�,&�� Timing ���� XL ���
��$������
�����,'�����(�
������ 40 ���������	 

�!��
���$�������
����1
���$��������,���������
�� �	��� slip �	

�,&��
���$�����	
�����������4 

 ������� slip ���������$�"������'��
���	
�,����2������! 0�!�	�
	,�������
����������!�����


�,&��0�!&�����,4   
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�����,���"#���������.4'��'������'��
���	
 . '�����(�
�� �!���������
!���
�	
�$�0�������,
���������������$���� �����
!������������!���0���%�����
�"#���������.4
'��'������'��
���	
���,'�����(�
���%�� ���
��$�������'��!�4'�������������� Crank slide �%�

&�����	
�$�0�������,
��������� �����!�	'����������,0��
����2�&��?3 '����������������!

������'����������'�������������, crank ��!��. 1.5 ���� 

 
����	
 4-18 '�������������� crank slide �	
"#�"������.4���
�'��'��'�����(���������.4�	
 60 

���������	 (�
����'��'�������������, crank �
������'��'�������������, slide) 

4.4 �����������	
�� 

"�
������������������
���	��!��	,���
�
��'���� ����
�� 0�!��	,� ������,
��� ��'��'�������
���#����	,���������
����������� �&�
�"�����,����������"� �������"����
��
���	����	� 

1.  ��'��'�������
��������	,�
1���	
��
�� ����
�������.4�	
"#�"����
��
��������0�� �����.4'��'������'��
���	
����,��"�
1��!&����"#���� 
�'��
��'��&������4�	
"#� 0�������,&������'�������?��,4�������0
��'��'���
����?��,4 0 +���4 ��2���� 

2. ���
� ����
����1%�
1���	
��
��  ��'��'�������
���!���,�,
������
��
��+�,
����� 0�!"�� ����
������������
��������������� ������0�� 
#�
� �&? ��,� 0�!��!�������"#�'��&������4 ��2���� 

3.  ��'��'�������
���!"�� ����
�����@A����"#�+��0���  ����
���!��	,�
+��0���@A�������0���!��� �.!��	,���� ����
���!�����������
�����.4
��������'��
���	
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����	
 4-19 ���3.!�����
�� 

4. ���
� ����
�����"#�+��0���@A������	,����,0���  ��'��'�������
������

1��!�����.4'��'������'��
���	
"���,��"�
1��!&����"#���� 0�!�$����
����'��'�������?��,4�������"���	'���&�
��%������!��
������.4'��'�����
�'��
���	

����'�����(��������	
������� '���
��&��54�!�����'�������?��,4
����������'�����(�"����0��������2������������	
 4-2 0�!�$����"����

����'��'�����(���
����2������������	
 4-3 �&�
�#��#, ���!��������

���0�! ���!�����'���#$���;"����"#�+��0����	
�&�
��%�� 

������	
 4-2 '���
��&��54�!�����'��'�������?��,4����������'�����(�"����0������ 
���������	
��
���
�� 
(�����) 

���������
��
�� 
(�
���
����) 

����������
���
����� 
(�
���
����) 

0.4 300 10 

0.8 600 20 

1.2 900 30 

1.6 1200 40 

 

������	
 4-3 �$����������	
,�0���'�����(�"������
�� (���������	) 
()��*+
�����, �
���, 1 �
���, 2 �
���, 3 �
���, 4 �
���, 5 

1,6 0 10 20 30 40 

2,7 10 20 30 40 0 

3,8 20 30 40 0 10 

4,9 30 40 0 10 20 

5,10 40 0 10 20 30 
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5.  ����
��,��'���������������.4'��'������'��
���	
0�!����!��. 3 

���	0����%����
��$������
��  ����
��
����1������$������
�����"�
�����(���  ����
���!��������,���������.4'��'������'��
���	
�������� 
���
� ����
���$������
�����'������ 3 ���0���  ��'��'�������
���!

���"�� ����
��������
4 0�!��
�&��
�,����2����� 3 ���	 

6.  ��'��'�������
���!�$��������'��'�������?��,4��������	�'�����&�
�
���	
,�0���'�����(���,��'���	
�������'��"���  

7.  ����
���$��������7�$������������	
 5 0�!  ��'��'�������
���$��������

7�$������������	
 6 ����!��
��$������
��'������ 5 ���
����'�� 0������

���,'�����(� 0, 10, 20, 30 0�! 40 ���������	  ��'��'�������
���!��

'�����(���������.4'��'������'��
���	
�� 0�!�K������.4 
8.  ��'��'�������
�� 
��1���������&�
�������� ����
�� 0�!������'���

��	,����,��������� ��2�����
�(�
�����!��������
�� 



����� 5 

���	
��
������������������ 

����������	
���
�����
 �������������������������������	�������	
���
��� �!�
 
�����
"� �������������#$��������������%�
�����#���&�
"� Pointing task, Linear steering task 

'�� Circular steering task &��()��
"���������
�"���� ����
����������
����
�����*����')�)��


��� ������������#����	���� �������(��(�����%�
�� '���%����
���
����%�
������%���*� +!�
��"���%�
��������
��������%�����,�
��� -�����,.���
�/,),�����������		���� 3 �����1���2�-��
��� 

5.1 Pointing task 

1���,��������	���1��������	����%�
�� Pointing task ���(�)���
��� 5-1 '�� 

5-2 3��)���
��� 5-1 ��'��

���4����'�������	���
�	���)�5����
����)��
���������
������	


������'������	
�����*�(�����
�"������')�)��
��� ������)����
��� 5-2 ��'��

���4������


����%�
������%���*�
,��#$���������������	
������'��
�����*�(�����
�"������')�)��
��� +!�

��������
����������/2�*�)���6�#���	����	
���')�)��
����
"���������%�
��)��
������)����#
��� 5-1 '�� 5-2 

��"��2,���������%�
���������	
������)��
7)����#��� 5-1 ��2	���1������	��

(������)��
���������(�
�����������	
������)�%� '����(������)��
���������
��"��
��
��
�������
����������!�� � )81�������(������(�����%�
������������
�������"��
�����������
����%�
��)��#�),��
��8��- �����
"���"����8��-�����	��99��( ��%�
�� ��8��-�%��#$������)��
(��
����(����2,�����������
�"���� �����
�� �#(��,:��
(� ���������8��-���%�����
�"���� ���,
 
��
������"������	
��������

��)�%� ���������
 �������(��(����)���,�(������������,������%�
��
)�� �������(��(�����
�"������ ����
��������%�
���������	����%�
����
�!�� �!
�%�( �����)��
���
���(�����%�
���������	
������)�%�7��
����
��������%�
���������	
��������
7 
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)���
��� 5-1 
���4������
����)��
�������%� ��	 Pointing task 

 

 

 ��#��� 5-1 ����#���	����	
���4������
����)��
����������
"���������%�
��)��
��� �%� ��	 
Pointing task 
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 )���
��� 5-2 
���4������
����%�
������%���*�
,��#$�������� �%� ��	 Pointing task 

 

0

1

2

3

4

5

6

1.5 2.5 3.5 4.5 5.5 6.5

index of difficulty

m
is

ta
k

e
 (

p
e

rc
e

n
t)

0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

 

��#��� 5-2 ����#���	����	
���4������
�����������%�
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5.1.1 1�����	��
����2,������
�"���� �)������(�����%�
�� 

�����#��� 5-1 ����
��)���3���4����'�����"��(���8#���-
�	
8�����
�"��������


���
������%�( �1������	(������(�����%�
������!����*����� '���������
����	���
�	��#	��
(�
	�

�����*� ��"���%����2,�������������
����������,.��������,�
��� -
���')�)��
��
�/,), 
Contrast test 2	��� ���(������(�����%�
��)��#�),')�)��
�������
������%�
�9 (sig.=0.05) 

��"���#���	����	��	 ���(������(�����%�
����"��(��
���8#���-
�	
8�����
�"������ )��)���
��� 
5-3  

)���
��� 5-3 ����#���	����	
���')�)��
�� ���
����%�
��#�),'�����(���8#���-
�	
8����

�
�"������ �%� ��	 Pointing task  

 

���)���
��� 5-3 '��
( �� *�������(��
���8#���-
�	
8�����
�"����������1�)��

�����*�(�����%�
�� ��������%�����,�
��� -���������� 2-way ANOVA  �2"���#���	����	
���

')�)��
���(������(�����%�
���� ���
�
"���������%�
�����')�)��
��� 
"����(��
���8#���-

�	
8�����
�"����������
�����*����')�)��
��� ����,�
��� -
���')�)��
��
������(���,.���� 
Scheffe )��)���
��� 5-4 )���
��
���������	8
������)��
���������')�)��
�������
������%�
�9

�����
�"��
 ����������-����%���	����(����
 Mean difference '���2"��( �
���)�����2,������!
�%�

������������(������� Homogeneous subsets )��)���
��� 5-5 �,.�������������(���# 

Homogeneous subsets 
"���������������������
���')�)��
����
������%�
�9���(���8���������� 

'�����( ������������
���')�)��
����
������%�
�9���)��
��8�� ���������(�)���
��� 5-5 ��� *����1��
����	(������(�����%�
��3���4�����2,���!����
�8� 5.3 �#��-�+*�)- ���
�����*�(����(��
��

�8#���-
�	
8�����
�"��������� 10 ��	)������ ��"���2,��
�����*�(����(��
���8#���-��
������#$� 

20 ��	)������ �������(��(�����%�
�����	�����
���')�)��
����
������%�
�9��"���#���	����	��	
����%�
��)��#�), ')�������"���2,��
�����*���
�8#���-
�	
8�����
�"������ �#$� 30 ��	)������ 
���	(������(�����%�
������2,���!����"������	���	����%�
��)��#�), ����
���*����"���2,��
�����*�
��
�8#���-
�	
8�����
�"�������#$� 40 ��	)������ 1������	��(������(�����%�
������(�����	
�������	����%�
��#�),���
���
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��� *�������(��
���8#���-
�	
8�����
�"����������1�����	)��
�����*�(�
����%�
�� Pointing task �%�( �1������	�%�
���������
 � ���(��
���8#���-���
�����*�	�

�� 

')����������������/����

������2��.-����������� ���

�����*�(�����%�
��'��
�����*�(�
���(��
���8#���-��
����� ����
���*��
���')�)��
��
����(�����%�
����
�������
���������
 ��2,���������#��������1����
��8��- ��"��2,���������)��
����������#�����'#�
�#���
����8�3���4���� 
"� #����� 10.6 ms. ���
�����*� 10 ��	)������ ��������1������	��(���������

�!��3���4���� 60.4 ms.�������	
������ 5.7 +!�
�#$�����	
��������
�8����(��(��������	��� 

)���
��� 5-4 ����#���	����	����)��
���������
�����*�(�����
�"������)��
7�����,.���� Scheffe 

�%� ��	 Pointing task 
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)���
��� 5-5 Homogeneous subsets ��
����)��
�������%� ��	 Pointing task 

 

5.1.2 1�����	��
����2,������
�"������)��
���'����%�(�����%�
�� 

�����#��� 5-2 ��� *������"��
������(�����%�
���2,������!�� 1������	��

'��3���������%�
������%���*���
�!�� '���������3�����	���
�	���
����*)�� �������������
��)���
���
������2��.-�� ���
�������
���1,�2���(�����%�
��'��
�����*�(�����
�"����������2,���!��
��"��
��������(��
���8#���-
�	
8�����
�"��������������� ����2,���!����
��)�����1,�2�����	
����2,��
�����*�(�����
�"����������#$��#(�'����
�������� �!
�%���������
�������2,�����

���')�)��
���� 2-way ANOVA '���,�
��� -�����������,.���� Scheffe ���1�����,�
��� -)��

)���
��� 5-6 
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)���
��� 5-6 #���	����	
�����������
����%�
������%���*����
�����*�(�����
�"������)��
7 �%� ��	 
Pointing task 

 

)���
 ��� 5-7 Homogeneous subset ��
�����������%�
������%���*� �%� ��	 Pointing task 
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���)���
��� 5-6 '�� 5-7 ��� *���������������%�
��1,�2������
�����*�(����

�
�"������)��
7 ���
��
�8���� 3.2 �#��-�+*�)-�#$� 1.7 �#��-�+*�)- ')�
��
���')�)��
��
����������

����%�
�9 

5.2 Linear steering task 

1���,��������	���1��������	����%�
�� Linear steering task ���(�)���
��� 

5-8 '�� 5-9 3��)���
��� 5-8 ��'��

���4����'�������	���
�	���)�5����
����)��
���������


������	
������'������	
�����*�(�����
�"������')�)��
��� ������)����
��� 5-9 ��'��



���4������
����%�
������%���*�
,��#$���������������	
������'��
�����*�(�����
�"������
')�)��
��� ��������
����������/����
���6�#���	����	
���')�)��
����
"���������%�
��
)��
������)����#��� 5-3 '�� 5-4 

��"��2,���������%�
���������	
������)��
7)����#��� 5-3 ��2	���1������	��

(������)��
���������(�
�����������	
������)�%� �����������	 Pointing task '����(������)��


���������
��������
��
��#�����

�����"��
����
�������
����������!�� ��� )8��
�����
��"��
��������(������(����)���,�(���
��8��-��������%�
�������������	 Pointing task 
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)���
��� 5-8 
���4������
����)��
�������%� ��	 Linear steering task 

 

 

 ��#��� 5-3 ����#���	����	
���4������
����)��
����������
"���������%�
��)��
��� �%� ��	 Linear 
steering task 
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)���
��� 5-9 
���4������
����%�
������%���*�
,��#$�������� �%� ��	 Linear steering task 
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��#��� 5-4 ����#���	����	
���4������
�����������%�
��1,�2�������
"���������%�
��)��
��� 

�%� ��	 Linear steering task 

��������� ��2,���������%�
����
��8��-'	�
)���,:��
����
�"������)��
7 

"� ����
�"�������#��
����	� �������
 �#��
+��� '���#��
��� ����)��
�������4������
���
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�
�"������(�')����,:��
'��
(���#��� 5-5 '�� 5-6 �����#��
���������
��)�������������
�(��

����(�����
�"�������#��
����+���'�����������������
�"�������#����	�'���������
 ��"��
2,�����
���')�)��
��
��������� Two-way ANOVA ��
)���
��� 5-10 '�� Homogeneous 

subsets ��
)���
��� 5-11 ��2	������(���������(��(�����
�"�������#��
����	� '���������
 

(vertical) �����
���')�)��
����
������%�
�9 (sig=0.337) '�����(������(�����
�"�������#

��
+���'����
��� (horizontal) �����
���')�)��
����
������%�
�9 (sig=0.387) ������� (����

������(������(�����
�"������(��,:��
	����
')�)��
����
������%�
�9��"������	��	���(������(�
����
�"������(��,:��
+������ (sig=0.000) +!�
��8#��������8��-��
���/���(����	�

�	( ��
�

�+��-�
�"������(�'�� Horizontal �������'�� Vertical 

 
��#���  5-5 ����)��
�������4�������(��(�����
�"������)���,:��
)��
7 �������	
������)��
7 

 

��#���  5-6 ����)��
�������4�������(��(�����
�"������)���,:��
)��
7 �������	
�����*�(����
�
�"������)��
7 
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)���
��� 5-10 ����#���	����	����)��
�������4������ ���
����
�"������(��,:��
)��
7 

 

)���
��� 5-11 ��������8�� Homogeneous subsets ��
����)��
�������%� ��	����
�"������

�,:��
)��
7 (mode 1 = down, mode 2 =right, mode 3 = up, mode 4 = left) 

 

5.2.1 1�����	��
����2,������
�"���� �)������(�����%�
�� 

�����#��� 5-3 ����
��)���3���4����'�����"��(���8#���-
�	
8�����
�"��������


���
������%�( �1������	(������(�����%�
�����
��*����� 
�����*�(�����%�
������2,���!��'#�
1��)�
��	
�����*�������
����
�"���� � (����

�����*�����%��������	 '���������
����	���
�	�
�#	��
(�	�

�����*� ��"���%����2,�������������
����������,.��������,�
��� -
���')�)��
��




 82 

�/,), Contrast test 2	��� 1������	(������(�����%�
��')�)��
�������
������%�
�9 (sig. <0.05) 

)��)���
��� 5-12  

)���
��� 5-12 ����#���	����	
���')�)��
�� ���
����%�
��#�),'�����(���8#���-
�	
8����

�
�"������ �%� ��	
�� Linear steering task  

 

��������%�����,�
��� -���������� 2-way ANOVA  �2"���#���	����	
���')�)��



�����*�(�����%�
���� ���
�
"���������%�
�����')�)��
��� 3��(���,.���� Tukey )��)���
��� 

5-13 )���
��
���������	8
������)��
���������')�)��
�������
������%�
�9�����
�"��
 ������

����-����%���	����(����
 Mean difference �����������	 Pointing task ��������2"��( �
���)�����

2,������!
�%�������������(������� Homogeneous subsets )��)���
��� 5-14 ���������

��
���������
��)����������)��
���������(��(�����%�
�������
����
������%�
�9 ��"��(��
��
�8#���-
�	
8�����
�"���������
�����*� 10 ��	)������ 1������	���(������(�����%�
��3���4����
���
����
������%�
�9��"������	��	����%�
��#�), ���������"���2,��
�����*�(����(��
���8#���-
��
������#$� 20 ��	)������ 1������	���(������(�����%�
�����
����
������%�
�9��"��
�#���	����	��	���(���8#���-���
�����*� 10 ��	)������ ����
���*����"���2,��
�����*�(����
�
�"���������
����������
�#$� 30 '�� 40 ��	)������ 1������	�%�
������
�����*�����	�������	
���(��
���8#���-
�	
8�����
�"��������� 20 ��	)������ '������)��
�������4�������
��
�8� 11 

�#��-�+*�)- ���
�����*� 40 ��	)������ 

��� *����������(��
���8#���-
�	
8�����
�"�������%�( �1������	(������(����
�%�
��3���4�������
 3�����(��
���8#���-���
�����*� 10 ��	)������ �"�����	������	���������
������ 3 �,���� �%�( �1������	�%�
���������������(��
���8#���-���
�����*��"�����(��(����
����	��� +!�
��"���#���	����	�42������%�
�����(��
���8#���-
�	
8�����
�"����������8#���
�������
�"���� ����
�������
�����*�)�%��������1�( �1������	�%�
����������������
�"���� ����

�����*���
�!�� ��"��
���������
�"��������
����������������
�"������)��#�),��
��8��- ��8��-�!

��,�
�������!�����#$�.�����), 
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)���
��� 5-13 ����#���	����	����)��
���������
�����*�(�����
�"������)��
7�����,.���� Scheffe 

�%� ��	 Linear steering task 

 

)���
��� 5-14 Homogeneous subsets ��
����)��
�������%� ��	 Linear steering task 
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5.2.2 1�����	��
����2,������
�"������)��
���'����%�(�����%�
�� 

�����#��� 5-4 ��� *������"������	
������(�����%�
���2,������!�� 1������	��

'��3���������%�
������%���*���
�!���8��
"���������%�
�� �������������
��)�������������
���
1,�2���(�����%�
�����2,���!����"��(��
���8#���-
�	
8�����
�"��������"������	��	����%�
��
)��#�), ')�����
������2��.-�� ���

�����*�(�����
�"������'��
���'����%�(�����%�
�����
������ �!
�%���������
�������2,�����
���')�)��
���� 2-way ANOVA '���,�
��� -����������

�,.���� Scheffe ���1�����,�
��� -)��)���
��� 5-15 

)���
��� 5-15 �#���	����	
�����������
����%�
������%���*����
�����*�(�����
�"������)��
7 

�%� ��	
�� Linear steering task 
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)���
 ��� 5-16 Homogeneous subset ��
�����������%�
������%���*� �%� ��	 Linear steering 
task 

 

���)���
��� 5-15 '�� 5-16 ��� *���������������%�
��1,�2����2,���!����
�8�

��� 11 �#��-�+*�)-�#$� 16.7 �#��-�+*�)-���
�����*� 30 ��	)������ '��
��
���1,�2�������2,���!��

���')�)��
����
������%�
�9 ��"������	��	����%�
��#�), (�������
���������
���1,�2���(����
�%�
�����
�����*�(�����
�"�������"��7�����
���')�)��
����
������%�
�9��"������	��	����%�
��
)��#�), 
 

5.3 Circular steering task 

1���,��������	���1��������	����%�
�� Circular steering task ���(�)���
��� 

5-17 '�� 5-18 3��)���
��� 5-17 ��'��

���4����'�������	���
�	���)�5����
����)��
���

������
������	
������'������	
�����*�(�����
�"������')�)��
��� ������)����
��� 5-18 ��

'��

���4������
����%�
������%���*�
,��#$���������������	
������'��
�����*�(�����
�"������
')�)��
��� +!�
��������
����������/2�*�)���6�#���	����	
���')�)��
����
"���������%�
��
)��
������)����#��� 5-7 '�� 5-8 
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)���
��� 5-17 
���4������
����)��
�������%� ��	 Circular steering task 

 

 

��#��� 5-7 ����#���	����	
���4������
����)��
����������
"���������%�
��)��
��� �%� ��	 
Circular steering task 
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)���
��� 5-18 
���4������
����%�
������%���*�
,��#$�������� �%� ��	 Circular steering task 
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��#��� 5-8 ����#���	����	
���4������
�����������%�
��1,�2�������
"���������%�
��)��
��� 

�%� ��	 Circular steering task 

��"��2,���������%�
���������	
������)��
7)����#��� 5-7 ��2	���1������	��

(������)��
���������(�
�����������	
������)�%� �����������	 Pointing task '�� Linear 

steering task '����(������)��
���������
��������
��
��#�����

�����"��
����
�������
���
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�������!�� ��� )8��
�������"��
���������(������(����)���,�(���
��8��-��������%�
��
�����������	 Pointing task '�� Linear steering task 

�����������"��2,���������%�
����
��8��-�#���	����	�� ���
����
�"���� �
�����*���F,��'������
�"���� �)����*���F,�� ����#���	����	����)��
�������4�����%� ��	
����
�"���������
��
�,:��
'��
(���#��� 5-9 '�� 5-10  �����#��
�����'������
��)������ ���
�
�"������)����*���F,����(������(�����%�
������������*����� ')���"��2,�����
���')�)��
��

����(�����%�
�����
��
���� contrast test '��� 2	������(������(�����%�
�����
��
�����
���

')�)��
����
������%�
�9 (sig.=0.165) 

 

��#��� 5-9 ����)��
�������4�������(��(�����
�"������)���,:��
�����*�'��)����*���F,���������	

������)��
7 

 

��#��� 5-10 ����)��
�������4�������(��(�����
�"������)���,:��
�����*�'��)����*���F,�����

����	
�����*�(�����
�"������)��
7 
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)���
��� 5-19 ����#���	����	���(������(�����%�
���%� ��	����
�"�����������*�'��)����*�
��F,�� 

 

5.3.1 1�����	��
����2,������
�"���� �)������(�����%�
�� 

�����#��� 5-7 ����
��)���3���4����'�����"��(���8#���-
�	
8�����
�"��������


���
������%�( �1������	(������(�����%�
�����
��*����� 
�����*�(�����%�
������2,���!��'#�
1��)�
��	
�����*�������
����
�"���� � (����

�����*�����%��������	 '���������
����	���
�	�
�#	��
(�	�

�����*� ��"���%����2,�������������
����������,.��������,�
��� -
���')�)��
��

�/,), Contrast test 2	��� 1������	(������(�����%�
��')�)��
�������
������%�
�9 (sig. <0.05) 

)��)���
��� 5-20 

)���
��� 5-20 ����#���	����	
���')�)��
�� ���
����%�
��#�),'�����(���8#���-
�	
8����

�
�"������ �%� ��	
�� Circular steering task  

 

 

��������%�����,�
��� -���������� 2-way ANOVA  �2"���#���	����	
���')�)��



�����*�(�����%�
���� ���
�
"���������%�
�����')�)��
��� 3��(���,.���� Tukey )��)���
��� 

5-21 )���
��
���������	8
������)��
���������')�)��
�������
������%�
�9�����
�"��
 ������

����-����%���	����(����
 Mean difference �����������	 Pointing task ��������2"��( �
���)�����

2,������!
�%�������������(������� Homogeneous subsets )��)���
��� 5-22 ���������

��
���������
��)����������)��
���������(��(�����%�
�����2,���!�� 3.5 �#��-�+*�)-����
��

����%�
�9��"��(��
���8#���-
�	
8�����
�"����������
�����*� 10 ��	)������ ����
���*����"���2,��


�����*�(�����
�"�������#$� 20 ��	)������ #���H�������)��
������(�����%�
�����	���




 90 

����
������%�
�9 '�����
��
�8� 6 �#��-�+*�)- ��"���2,��
�����*���
�8#���-�!���#$� 30 '�� 40 

��	)������ 1������	(������(�����%�
������(�����	�������	���(��
���8#���-��� 20 ��	)��
���� 

��
��)���������(��
���8#���-
�	
8�����
�"������������1�)������(�����%�
�� 
Circular steering task ����
������%�
�9 ')����2��
���(��
�����
�����*� 10 ��	)�����������������

�%�( �1������	�%�
���������
 (����������(��
���8#���-��
��������
�����*��"��7(��������	
����%�( �1������	(������(�����%�
��3���4�������
 +!�
�����/��8#���������(��
���8#���-������

�����*� 10 ��	)�������#$�
�����*�����#�#$�.�����),'������
����	���( ���	1������	
�����������	 Linear steering task 

)���
��� 5-21 ����#���	����	����)��
���������
�����*�(�����
�"������)��
7�����,.���� Scheffe 

�%� ��	 Circular steer task 
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)���
��� 5-22 Homogeneous subsets ��
����)��
�������%� ��	
�� Circular steering task 

 

5.3.2 1�����	��
����2,������
�"������)��
���'����%�(�����%�
�� 

�����#��� 5-8 ��� *������� ��"������	
������(�����%�
���2,���!����� 6.28 �#$� 

18.85 
��
���1,�2���(�����%�
����
1������	�����
 ')���"������	
������(�����%�
��

�2,������!��
���1,�2���(�����%�
����
1������	���	�2,����
�!�� ��"��
������1������	����
( 9�2��������
�%�����(��������	���
��� ')�������������/
�	
8�����
�"���� �( �����&��(�
��	��)����%� ����� �������������
��)�������������
���1,�2���(�����%�
�����2,���!����"��(��

���8#���-
�	
8�����
�"��������"������	��	����%�
��)��#�), ')�����
������2��.-�� ���


�����*�(�����
�"������'��
���'����%�(�����%�
����


��������� �!
�%���������
�������
2,�����
���')�)��
���� 2-way ANOVA '���,�
��� -�����������,.���� Scheffe ���1����

�,�
��� -)��)���
��� 5-23 '�������/'	�
��8�� Homogeneous subsets ���)��)���
��� 24 +!�


����
��)�����������������%�
��1,�2����2,���!����
�8���� 13.8 �#��-�+*�)-�#$� 17.5 �#��-�+*�)- 

')�
��
���')�)��
��
��������������%�
�9 
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)���
��� 5-23 #���	����	
�����������
����%�
������%���*����
�����*�(�����
�"������)��
7 

�%� ��	 Circular steering task 

 

)���
 ��� 5-24 Homogeneous subset ��
�����������%�
������%���*� �%� ��	 Circular  
steering task 

 



����� 6 

���	
��
�
����������������� 
 

6.1 ��	
��
�
����� 

���������	�
�	�
����	�������������
	�����������������	���
�������
 ���
����	��!�	"
�
�����#������	�
�� �$��%�#�&�'&(��������	��)�	
�*+�,)-#�
�	���	�� �
/��
����������
	�
	�����01�����*
��1������	��!�	 ������	�������������	���& 
�����%2�	�������3��
��������	������/� Pointing task �!�		���
	������%2�	�����������"�3�
��"%�����&$%�# ���
� 

���������&��&�	)�	$��	4 5���6��#����	�&�	 Pointing task ����������	���& 
�����%2�	�����
�

�
�+-#��
/�������3	���&��$��,���$��/���/��3�)3�
1�$��	4 	�������	��#��
�/�	�� Steering 

task �!�		���
	������%2�	�����$3�	����
�'&
������ Pointing task 	�������&$%�# ���
��!�	�����

"�3����%2� Steering task "�3��� ����)�����
	�/� �������1% ��/������3	��5%����
$��$�	

�1%(�� �%2�$3�  

�1%���������/������)�	���	����������	�����
�#�
 ������&����#�,)���)$���
���/���"�����	���
�*+�,�/�������/������"%��
��%2���3�5�3	 ��/���3�$�	  ������/�������
�	��	 #

����
��
�#�
�
�����
�	���	��
������������/�������%2��	��� ���� ���%78� 
����� ���
���/�������
	����� #�����3�13����
�	���	����&�������
/����3��3��������%78� 
�����  ��/��	 �����
�1	
)�	�
��)��)-#���	��$���������/�� !	
�5�����#�
���5��)��3������ 

����%���������%�#�&�'&(��������	��)�	
�*+�,�%2���/��	�����#���"�3��� 
��/��	 �� 
�*+�,�%2�%7  
����
����
�
��%��1	 ���
����)�	
�*+�,�$��#��
�"
������
� ����
��13
)�	
�*+�,�$��#����"
���
/���
� %�#�����-,�������3	����
�&��$��,����$�$��	�
� �
�	
�
�+-#�����3	�� ��#���
�����9�������3	�� ��
"%0!	���
��
��0�����������13����$�$��	
�
� ����#6#�
������#�������&�)!��$��
�*+�,�$��#�� !	"
���
/���
� ����	"�����	���& 
����"�3���
���/��	
/���	�0&$&
�����������%�������������#�������&�)!���
	����� �&'���������/����3�/����
�&����#�,���
�%�%��������	��	 �!�	�%2��&'���������3:!�+��� ��$
��%�$3�
������ 2 
%�#�(� ����&����#�, #�& ��-� ������6����)�	�13������
�	�
� ��#�������#�
����


��� 
)
��$��� ������%������������
�$�$��	)�	������	��(���$3�	/���")����$�$��	�
� "�3��� 95 
�%��,����$,  
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������������*%"�3��� 
�*+�,��
��0�	%�#�&�'&(��������	��"�3�
/����&�

���/���������	����������	�3�����
���������1������	�����
�#�
 ������������
�	��� 1 ��
��0��*%
"�3��������&�
���
������������/���"�����	���
�*+�, 
�)�� ���
��������&�
���
������1� ���
���/���"�����������&�"% #�����3
�*+�,��3������������	��
��)!�� ����������������
������
������/�������!�	�����3�13�������3������������	����&�
)!���/� 60 ���$��������/�����������
����
%78� 
����� 1 �&����$����� ������
�����
	����� �13����� #��&�
��3������������	��
��)!�� 
�����
�	���*�%�#�(������3����������  

���������������
�	��� 2 ��
��0��*%"�3��������&�
���
������������/������
��3�
�
�*+�, ���%2�$3�	
����
���#�
���!�	 ���
������������/����������3���&�"% #�����3
�*+�,
���	��"�3�3��	 ����������������
������������3�13�������3������������	��
���������
����
�/������	
��
�����
9�/� 10 ���$������ ������
�����
	�����������/��������� #�%������
/������3��)�
��&��3�����
���� 3 �&����$���3�� ������
��������13����� #��3������������	��
������������	�� 
- ������/���"��������
�����1	)!�� �����
�	���*�%�#�(� 

�
/���& ��-�����#��)�	�����&�
������/���"�����	����3�����
���� 20, 30 
��# 40 ���$������ �!�	���
�����
	�������1��#����	���
�������
���$��������	�� �/� 10 ��# 60 
���$������ ����#��)�	������/���"��������
���� 20, 30 ��# 40 ���$�������
��
���
��
/���
������
�������	�� Steering task �
�	�����3�$�	��#�	��
 ��/�����
���!�	 �13�����

��3������������	��������
�����������������
� ��#���������3��������	��������
����$��	4��������$���
����������	��%�$&���"
�"�3��3�*%��-,����*
������/������ �$������13�������3������������	�� 
pointing task ������
���� 30 ���$������������� ��� 40 ���$������ ��#�������������	��%�$& 

����	"��������
�$�$��	�����&�)!�����
����"
��1	
���
� �
/��:!�+�������#����������
�5��������	

��������
�$�$��	�
	�������&�)!����/��	 ��������	���3�����
�����9
��)!��)�	�13�������	
�� 

����	"����������&�
���
������������/��������3�
����	����������	��� #"
�
�
����#��$�����
�
�������������	�������	������	�������
�#�
�
	����������
�	�������3��
���������*�%�#�(��
/���&����#�,�3���&'������	�0&$&������


��� 
������ 95 �%��,����$, 

5����*%��3������3	���*%��-,����*
������/������ #
����	������	����1����
���
���������!�	 ������	���
�����
	������13����� #��
��0�
�+��#�
�������	��"�3"�3 ���
���
������������/���"�������3�	)!��
����$�����&�"% �13����� #��3������������	��
��)!�� �
/��
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��&�
���
������������/���"����3
��)!�� ���1������	���
�������	�� �13����� #�
�+��#�
����
���	��"�3"�3$�
%�$& ��#�� ��3�������	���3���	�����
�	����	%�#�(� ��#�����&�
���
����
��������/���"��
��)!�� ���#�
�	0!	���
���������!�	 ����#��)�	�*%��-,�
	����� #�����3�13
�������3������������	��
��)!�������
�	 ��#�����3	���*%��-,����*
������/���������"
�
�
����#��$�����
�
�������������	��)�	
�*+�, 

6.2 �����������
�
�����
�
����� 

)���)$������	��)�	�*%��-,����*
������/�������*��$3���������3������& 
����
�/�������	��������
���� 40 ���$������ ��/����������	�
�����3����3���&��3���# 0.75 �&���� ���

��3	���*%��-,�
	�����������
�����1	���� 40 ���$������ #��&�����#�����"
��!	%�#�	�, 3 

%�#��� %�#������ ������	��������
�����1	)!�������3�*%��-,$3�	�������
	
��)!�� ���
$3�	���
�
	����� #�)3����3)�� ���
�)�	�����	����
	)�	�*%��-, �����3�����	����
	"
��������� ��#�#��
 #
�����
���#��/������*���	)!�� %�#��������	 �#�����%�
��&:��	�����3 spur gear 
� backlash 

��1�(�����#�� ������	��������
�����1	 #�����3��&�����	�
	�����"�3 ����	�
	�����"
�%���D��
������	��������
����$��� %�#����*��3�� �1%������
������#���
���	)�	��"� crank slide �!�	

 #��3�	���
���	����1	���%����*��3��"��)�	��"��
	����� ���
���	��� #
������&�

��)!���
/����3	��
�*%��-,����*
������/�������3�����
�����1	)!�� �����3
�*+�,�
��13"�30!	������	�����"
��������� 
�*%��-,����*
������/����������
	�	
����
 ���%2���� #$3�	%�
�%�*	��/����3��
�#�
�
������3	��
$��"% 


�$�E�� Fitts� law ��# Steering law ���"�3��/����3���������	����%2�


�$�E�����%�#�
&�%�#�&�'&(��������	������%2�
�$�E����#�%2������
�
����#�
�5�� 
����	"���������
F���*%��-,����*
������/��������/�����"%��3	�� �&	��� #$3�	
����:!�+�0!	
����#��$��������	��%�#�(��/���3�� �!�	"�3��� ��������
�
�'& ���
 �� ��
"%0!	������	��
�����:
��
�+#��������&
�,��� ��/��
3�$�����%������1%����������	��3�����3�	�
�������	��
$�
%�$&
��)!�� ���� ����%����� ��������	���3���
��,
��%2�������	���3�� touch screen �%2�

$3�  

	���& 
����5����
������3�0/�"�3����%2�	���& 
�����%2�����)��&�� ���:!�+�
����#��)�	�*%��-,����*
������/������$���*)(��)�	�13��3	���%2���/��	�������
9"
��&�	�����"%
�������:!�+�����#��$��������	�� �13�& 
���
	�%2�����	�&�	��� #
��13
����
�13��	�3���������,
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����0!	%�#5���,)�	�*%��-,�����#������:!�+�����#��)�	�����3	���*%��-,����*
���
���/������$�����	���
�*+�,$����/��	"% 

�3������*���������� 
�����#���/��$��������	��)�	
�*+�, �!�	�%2�%7  
����"
�"�3
:!�+��
���%2��&�	�������
9����*� ���
��������9��������	��0/��%2���!�	��%7  
��
	����� �����
����#�� �������������9�
�����"�3�3�������3�		�������3���������������13�3�� ��#��3�13�����
"�3GH�G�������� #����������� �!�	�%2��&'���������3��	���& 
���� ����	"�������������$����/��	���
��3��&�)3� ���
�����/��	���� ��#���
�3�)�	�13����� ���GH�G� !	��1����	/���")������� ���
� 
�
	�
���&'������&�
���
��������9��3�
��13����������� #�
F���%2������&�
���
�����9 �0!	
�(��#�	��� �!�	"
� ���%2���� #$3�	�����$����/��	 5����&�
 ������
�����������������#��
 ����������������������$���
� �!�	 #�����3"�3)3�
1����
����
��
�#�

������  
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*)� (� dm = magnitude of human 
 dy = magnitude of source 

 fs = frequency of source 

 fr = natural frequency of human 
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1000 - 2000 
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�����$�����.��� (��($%��"#��(�)
	&� ���
�#����/3�	'%� ��
�/�"$* ��/� ����.(��#+�����
�"�� 

�����/�.�� ������	
�� �/

/ �/� ���� � 2538 
 

4 � !��"�# 

*)�
�
/�"�%��4��&�/�������'�����$%��($'�
�!��%'���4��&�/�'�������������
�'�����	����0�#���$%���������+)� ;�����������0'��� $%������ (�1/%�����"#������ �����&'��
��/�%4 (�������/�+
�"�% ��. !������/)������'����"(� �
��
#$�/% �"#��.0����3��
��"��))+)� 
�����������4��&�/	!�������� !����.��.!��
�� (�.#
���$!����0�� ��4��&�/ $%����3� �"#$%����5%
"� ������/.��4�0��$%��	����0������#���$%������ *)��(��� )"���"#	��
1"��4��&�/
	���)���&
 (� 2-38 

 
�&
 (� �-9 ��3� (� !����1&�
2/��
/�����	����%)"����&�	��	��� 

�����/�.�� Ergonomic: Human Factors Engineering �
. 	� -/= ��(�&��� 
 



 115 

������� � 

	���"���$�%��������
���&���������� 

1 Passive exercise 

Passive exercise $�����"���4#����$"����+�% (�	������3�������1&� )	����

���%/.���(3 $%��������� passive exercise �����������!�"�������� !���� $������$"����+�%

�'���������	'%�����'�������'���������� *)�
���.��$%��
�3��.���1&�����!�"����� �'�����
	'%�)���"'�%.#0&� !�����$"����+�%)�%����.����������'����.��$�������
��4� passive 

exercise ����#	!�����1&� (�+�'�������!�"����� +�'�(�%"� 1&���)�.5� �"#1&�	&����� ���.���(3 

passive exercise �������#	������ warm up �'������!�"����� �"# cool down �"�����

�!�"�����)�%� ��
F..���� Passive exercise ���0&���������
�#�� AVW�A&	���0���1&�
S%�����

����������!���) 
�#*������� passive exercise 	����0�0��+)�)���(3 

– 
���
���	������+�"�%(��*"�/
 
– ������������������!���) 
– ��/��$%����)���'� $%��	����0������$"����+�%�"#�����
������

�$"����+�% 
– 
���
���	����"������3� 
– ���� ������
���"#$%���.5�
%).��*�$���
'�����	� 
– ���� ������
%)�"�� 
– ")$%���$�(�) $%�����%" �"#����������$(�� 
– �'%�")�3!����� 

2 ��)�*��#+,�� 

��
�*�"/;���$����
���������"���������'����������� $'���
�*�"/;���.#�($'�
�
�
'�����+

���/.���� (� !� �"#�
�
'��
���
'"#��$$" 
�
/.#�(��'%��
�� kcal/min *)��(

���"#��(�))��
���� �-1 ����$1�%� �. ��
�*�"/;���������"�����.��	���$�(������'����� (�
����%'� ATP ;���+)�.�����	"��������������'����� +)���' �"&*$	 �"# +���� ���	"��

	��������(3�
��+
��	���&
��� $�����������;/�.� �"#���+�'������;/�.� ��'��+��5)(���
�
�(��� (����
���������"�����*)������'�� kcal/min ��3�+�'	#)%� ����#$%���
�
'�����
�������"��������
'"#��$$" ���%/.���"�'������.���!���)��'%�	���� -���3��� ��(��%'���'%� MET 
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��'%� MET �(3�
������
�(��� (���������"���������� !��/.����
'��,���$�� (����� �"�����

���4#������$�,��3� (basal metabolism) *)�$'��"��������4#��� (basal metabolism) $��

$'��"����� (����������������������-���)�+�'�(��������� �"#+)�������.�+�'�(������������

�$��� ���
!���.#������������-���)� *)�	��
�"�%��'%� MET �(3 �
������#���"����� (����

�
��.!��%�� '�����"��������4#��� ��'� 2 MET ����$%��%'��/.������3�����"������
�� 2 � '�

����"��������4#��� ;�����'%��(3�
�� (��/������%'�����#�($%��	#)%�������
�(��� (�� �"#
	����0�
�(��� (���#�%'����$$" (��(��
���������"�����*)�
�
/�
�
'�����+)�)�%� 

3 ������.���)�*��#+,�� 

�����$'���
�*�"/;��� 	!������4#��� (basal metabolism) 	����0 !����

$!��%4+)�)�%��"����� ISO 8996 )��	���� 

��� BMR = 0.04833[66.473+13.7516*Wb+500.33*Hb-6.755*A]/BSA  (1) 

�D/� BMR = 0.04833[655.0955+9.5634*Wb+184.96*HB-4.6756*A]/BSA  (2) 

BMR = ���	�����"������4#��� �(��'%��
��%�

�/
������
������3� (�1/%   *)�

 (� 1 %�

� = 0.85985 kcal/���%*�� 

Wb = �3!�����
�%��$$" �
���/*"���� 

Hb = 	'%�	&���$$" �
����
� 

A = ���� �
��
] 

BSA  = ��3� (�1/%����'������
��
������
� 
�#��4.��	&
���� Dubois  

= 0.007184.weight0.425.height0.725 (����!���������$�+ ���.�($%��

$"�)�$"��������) 

�����$'���
���������"�����	!������/.�����),	����0 !�+)�)�%����%�)$'� 
���%�)��
���������"������(3	����0 !�+)� �3����%�) ��
���"# ������ 

3.1 ���%�)$'���
�*�"/;���*)�%/-(
�� 

���%�)*)�%/-(
�� ������"����� (�%'�$%������ (���/)��3��5$���"����� (��'�����
	������3�������� !��/.���� �����)!����(%/
 0��	����0%�)$'�$%������ (������.���'�����+)� �3���)
�5.#	����0
�#��/�$'��"�����+)�  !�*)�%�)$'��"�����$%������ (���/)��3�������
̂) )���&
 $-1 
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�&
 (� $-1 
�%��'������ )"�������%�)��
���������"�����*)�%/-(
�� 

�����/�.�� ������	
�� ��� )�. �/

/ �/� ���� � 

3.2 ���%�)$'���
�*�"/;���*)�%/-(���� 

%�)*)�%/-(����  !�*)����%�)������ O2 
'���'%��%"� (oxygen consumption) 

�"�%$!��%4��.��	������� (����
�# ������+
.��
���� (� 1 *)�
�
/$�.#�/�������<"(����
��
��	'%� 5/1/2 .#+)�
�#��4 4.87 �/*"�$"��(�
'�"/
� (���;/�.�) �
'���	����0���$'�
�#��4 
5 �/*"�$""��(�
'�"/
� (���;/�.�) +)� )����3�$'���
�*�"/;���.#��+)�.��	���� 

2

2

5

87.4

xVO

xVOmetabolism

≈

≈      (3) 

Metabolism  $����
���������"������(��'%��
�� �/*"�$""��(�
'��� ( 
VO2   $��
�/��4���������;/�.��(��'%��
��"/
�
'��� ( 


���� (� $-1 $'��"��������	������� 3 
�#��  
MPLFF@3R97<U>FU Respiratory 

ratio 

nNI66?<JD5HGL?6^YL ]G89oJ

H?GF?:?G 

NRQG/@GIB VCO2/VO2 kJ/L of O2 Kcal/L of O2 

Carbohydrate 3.83 1.00 21.2 5.05 

Fat 2.02 0.71 19.7 4.69 

Protein 0.79 0.80 18.9 4.49 

�����/�.�� ������	
�� ��� )�. �/

/ �/� ���� � 

���%�)
�/��4���������;/�.�	����0 !�+)�	��%/-($�� %/-(�
^)�"#%/-(
̂) *)�%/-(
���.#�����
��4�)���&
 2 ��5�
�%��'��"�����.�����%/�$��#�� 
�/��4���;/�.� �"# 
�/��4
$������+)���+;)� �"�%$!��%4
��	���� (� 4 	'%�%/-( (�	�� .#���1&�0&� )"������.����� (���&'
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��0��
^)���*)�	/3���/� $������+)���+;)� (���/)��3�.#0&�)&)���1'���3!�
&��	 �
'%/-(�(3+�'+)����
$%���/��������������.��1&����� )	��
�������.��������.���� (�.!���) 

  
�&
 (� $-2 ���%�)��
����� ��
�*�"/;��� *)�%�)$'� O2 consumption 

�����/�.�� Powergrid Fitnessr kiloWatt™ System Dr. Daniel Drury Fellow and President, 

Mid-Atlantic Chapter American College of Sports Medicine 

���$!��%4
�/��4���;/�.� �"��.����5�����&".�����%�) .#���	���� 

VO2 = VI*FIO2-VE*FEO2  liter/min   (4) 
VO2 = 
�/��
�������;/�.� (����+
����� !��/.��������� "/
�/�� ( 

VI = 
�/��
��������� (�����.��������� !��/.������(�� "/
�/�� ( 

FIO2 = ����"#������;/�.� (��(��&'�������*)�
�/��
� 20.93 % 

VE = 
�/��
����"�����.��� (�%�)+)�.����� !��/.��������� "/
�/�� ( 

FEO2 = ����"#������;/�.� (��(��&'��"�����.���*)�
�/��
� 

��.	���
/���
�/��
��������.�����"#���� '����  �
'��$%��.�/�.#� '����+)�
�����
�/��
���� ���;/�.�� '����$������ (RQ=1) ������.��� Haldane transformation �����

$%����'��!������3� )��	���� 

( )
( )

[ ]
22

22

22

2
**

1

1
FEOVFIO

FICOFIO

FECOFEO
VVO EE −









+−
+−

=    (5) 

����4( (� )"�� (��#)���3!� #�" �����
�
/�($'� FIO2 = 20.93%, FICO2 = 0.04%  
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���� (� $-2 ��
���������"���������/.����
'��,�(��'%��
�� kcal/min 
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���� (� $-2 ��
���������"���������/.����
'��,�(��'%��
�� kcal/min 

 



 121 


���� (� $-2 ��
���������"���������/.����
'��,�(��'%��
�� kcal/min   

 



 122 


���� (� $-3 ��
���������"���������/.����
'��,�(��'%��
�� MET (�����/�.��
���� $-2) 
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������� �.  

����������� /��!&���01�0���������� 

Brushless DC motor Parker IBE 232F 

  
�&
 (� �-1 ���
���+���
��0'�� Parker IBE232F 

���
���+���
��0'�� �(���� Parker ��'� IBE 232F 

��� ���$
'�������� '���� 0.46 �/%
����
� 

$%����5%	&�	�) (� 3300 ���
'��� ( 
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Brushless DC motor Parker N0343FE 

  
�&
 (� �-2 ���
���+���
��0'�� Parker N0343FE 

���
���+���
��0'�� �(���� Parker ��'� N0343FE 

��� ���$
'�������� '���� 1.5 �/%
����
� 

$%����5%	&�	�) (� 6800 ���
'��� ( 

Ear muff 

  
�&
 (� �-3  (�$����&����	(�� 

 (�$����&
K������	(�� �(���� Stoney Point 


K������	(��+)� 28 �);/��" 
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Servo amp 

  
�&
 (� �-4 Servo amp Parker GV6 

Servo amp �(���� Parker ��'� GV6 

���	�DD�4
K������������"��+)� +10V -10V 

	����0���������
���+���
"�0'�� �(���� Parker ��'� N0343 FE 

�(�'�����	�DD�4��5�*$)�)��� �"#	'����+)� 

	����0*
�������� !����1'�� ��$���/%�
���+)� 
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������� 2 

	���"����3��2���������� 

�����������$���� 1 

�%"� (��������� !���� 
Pointing task 

ID & time  subje ct 1
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�&
 (� <.1 �%"� (��������� !���� (ms) � (������#)��$%����������� pointing task ���1&�

 )	��$� (� 1 

ID & time  subje ct 2
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�&
 (� <.2 �%"� (��������� !���� (ms) � (������#)��$%����������� pointing task ���1&�

 )	��$� (� 2 
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ID & time  subje ct 3
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�&
 (� <.3 �%"� (��������� !���� (ms) � (������#)��$%����������� pointing task ���1&�

 )	��$� (� 3 

ID & time  subje ct 4
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�&
 (� <.4 �%"� (��������� !���� (ms) � (������#)��$%����������� pointing task ���1&�

 )	��$� (� 4 

ID & time  subje ct 5
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�&
 (� <.5 �%"� (��������� !���� (ms) � (������#)��$%����������� pointing task ���1&�

 )	��$� (� 5 
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Linear steering task 

ID & time subject 1

0
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�&
 (� <.6 �%"� (��������� !���� (ms) � (������#)��$%����������� linear steering  task ���

1&� )	��$� (� 1 

ID & time subject 2
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�&
 (� <.7 �%"� (��������� !���� (ms) � (������#)��$%����������� linear steering  task ���

1&� )	��$� (� 2 

ID & time subject 3
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�&
 (� <.8 �%"� (��������� !���� (ms) � (������#)��$%����������� linear steering  task ���

1&� )	��$� (� 3 
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ID & time subject 4
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�&
 (� <.9 �%"� (��������� !���� (ms) � (������#)��$%����������� linear steering  task ���

1&� )	��$� (� 4 
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�&
 (� <.10 �%"� (��������� !���� (ms) � (������#)��$%����������� linear steering  task 

���1&� )	��$� (� 5 
Circular steering task 
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�&
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���1&� )	��$� (� 1 
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ID & time subject 2
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�&
 (� <.12 �%"� (��������� !���� (ms) � (������#)��$%����������� circular steering  task 

���1&� )	��$� (� 2 
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�&
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���1&� )	��$� (� 3 
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ID & time subject 5
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���1&� )	��$� (� 5 
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0

1

2

3

4

5

6

7

8

0 1 2 3 4 5 6 7

ID
e

rr
o

r

bas e

20 RPM

40 RPM

60 RPM

80 RPM

  
�&
 (� <.17 .!��%�$��3� (� !����+�'	!���5. ($/)�
������"#) ����� !���� (��
'"#�#)��$%�������

��� !���� Pointing task 	!�����1&� )	��$� (� 2 

ID & e rror subje ct 3

0

5

10

15

20

25

0 1 2 3 4 5 6 7

ID

e
rr

o
r

bas e

20 RPM

40 RPM

60 RPM

80 RPM

  
�&
 (� <.18 .!��%�$��3� (� !����+�'	!���5. ($/)�
������"#) ����� !���� (��
'"#�#)��$%�������

��� !���� Pointing task 	!�����1&� )	��$� (� 3 

ID & e rror subje ct 4

0

0.5

1

1.5

2

2.5

3

3.5

4

4.5

0 1 2 3 4 5 6 7

ID

e
rr

o
r

bas e

20 RPM

40 RPM

60 RPM

80 RPM

  
�&
 (� <.19 .!��%�$��3� (� !����+�'	!���5. ($/)�
������"#) ����� !���� (��
'"#�#)��$%�������

��� !���� Pointing task 	!�����1&� )	��$� (� 4 

 



 133 

ID & e rror subje ct 5

0

0.5

1

1.5

2

2.5

3

3.5

4

4.5

0 1 2 3 4 5 6 7

ID
e

rr
o

r

base

20 RPM

40 RPM

60 RPM

80 RPM

 
�&
 (� <.20 .!��%�$��3� (� !����+�'	!���5. ($/)�
������"#) ����� !���� (��
'"#�#)��$%�������

��� !���� Pointing task 	!�����1&� )	��$� (� 5 
Linear steering task 

ID & error subject 1

0

10

20

30

40

50

60

0 5 10 15 20 25 30

ID

e
rr

o
r

base

20 RPM

40 RPM

60 RPM

80 RPM

  
�&
 (� <.21 .!��%�$��3� (� !����+�'	!���5. ($/)�
������"#) ����� !���� (��
'"#�#)��$%�������

��� !���� Linear steering task 	!�����1&� )	��$� (� 1 

ID & error subject 2

0

5

10

15

20

25

30

35

40

45

0 5 10 15 20 25 30

ID

e
rr

o
r

base

20 RPM

40 RPM

60 RPM

80 RPM

  
�&
 (� <.22 .!��%�$��3� (� !����+�'	!���5. ($/)�
������"#) ����� !���� (��
'"#�#)��$%�������

��� !���� Linear steering task 	!�����1&� )	��$� (� 2 



 134 

ID & error subject 3

0

10

20

30

40

50

60

0 5 10 15 20 25 30

ID
e

rr
o

r

base

20 RPM

40 RPM

60 RPM

80 RPM

  
�&
 (� <.23 .!��%�$��3� (� !����+�'	!���5. ($/)�
������"#) ����� !���� (��
'"#�#)��$%�������

��� !���� Linear steering task 	!�����1&� )	��$� (� 3 

ID & error subject 4

0

5

10

15

20

25

30

35

0 5 10 15 20 25 30

ID

e
rr

o
r

base

20 RPM

40 RPM

60 RPM

80 RPM

  
�&
 (� <.24 .!��%�$��3� (� !����+�'	!���5. ($/)�
������"#) ����� !���� (��
'"#�#)��$%�������

��� !���� Linear steering task 	!�����1&� )	��$� (� 4 

ID & error subject 5

0

5

10

15

20

25

30

35

40

0 5 10 15 20 25 30

ID

e
rr

o
r

base

20 RPM

40 RPM

60 RPM

80 RPM

 
�&
 (� <.25 .!��%�$��3� (� !����+�'	!���5. ($/)�
������"#) ����� !���� (��
'"#�#)��$%�������

��� !���� Linear steering task 	!�����1&� )	��$� (� 5 

 



 135 

Circular steering task 

ID & error subject 1

0

10

20

30

40

50

60

70

0 10 20 30 40 50 60

ID

e
rr

o
r

base

20 RPM

40 RPM

60 RPM

80 RPM

  
�&
 (� <.26 .!��%�$��3� (� !����+�'	!���5. ($/)�
������"#) ����� !���� (��
'"#�#)��$%�������

��� !���� Circular steering task 	!�����1&� )	��$� (� 1 

ID & error subject 2

0

10

20

30

40

50

60

70

80

0 10 20 30 40 50 60

ID

e
rr

o
r

base

20 RPM

40 RPM

60 RPM

80 RPM

  
�&
 (� <.27 .!��%�$��3� (� !����+�'	!���5. ($/)�
������"#) ����� !���� (��
'"#�#)��$%�������

��� !���� Circular steering task 	!�����1&� )	��$� (� 2 

ID & error subject 3

0

10

20

30

40

50

60

0 10 20 30 40 50 60

ID

e
rr

o
r

base

20 RPM

40 RPM

60 RPM

80 RPM

  
�&
 (� <.28 .!��%�$��3� (� !����+�'	!���5. ($/)�
������"#) ����� !���� (��
'"#�#)��$%�������

��� !���� Circular steering task 	!�����1&� )	��$� (� 3 



 136 

ID & error subject 4

0

10

20

30

40

50

60

70

80

0 10 20 30 40 50 60

ID
e

rr
o

r

base

20 RPM

40 RPM

60 RPM

80 RPM

  
�&
 (� <.29 .!��%�$��3� (� !����+�'	!���5. ($/)�
������"#) ����� !���� (��
'"#�#)��$%�������

��� !���� Circular steering task 	!�����1&� )	��$� (� 4 

ID & error subject 5

0

10

20

30

40

50

60

0 10 20 30 40 50 60

ID

e
rr

o
r

base

20 RPM

40 RPM

60 RPM

80 RPM

 
�&
 (� <.30 .!��%�$��3� (� !����+�'	!���5. ($/)�
������"#) ����� !���� (��
'"#�#)��$%�������

��� !���� Circular steering task 	!�����1&� )	��$� (� 5 



 137 

�����������$���� 2 

������
� ����&" (��	)��
������&"���1&� )	��$� (� 3-12 *)�"#�%������&"���1&�
 )	��$� (� 1 �"# 2 ������)�%�$%��+�'	��&�4��������&" 

�%"� (��������� !���� 

Pointing task 

subject 3

300

400

500

600

700

800

900

1000

1.5 2.5 3.5 4.5 5.5 6.5

index of difficulty

m
o

v
e
m

e
n

t 
ti

m
e 0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 3

140

150

160

170

180

190

200

1.5 2.5 3.5 4.5 5.5 6.5

index of difficulty

 n
o

rm
a
li
z
e

 m
o

v
e
m

e
n

t 
ti

m
e
 

0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 3

300

400

500

600

700

800

900

1000

0 10 20 30 40

velocity

m
o

v
e

m
e

n
t 

ti
m

e ID = 2

ID = 3

ID = 4

ID = 4.95

ID = 5.7

subject 3

140

150

160

170

180

190

200

0 10 20 30 40

velocilty

n
o

rm
a
li
z

e
 m

o
v

e
m

e
n

t 
ti

m
e

ID = 2

ID = 3

ID = 4

ID = 4.95

ID = 5.7

 
�&
 (� <.31 �%"��"#�%"���
�8�� (ms)  (��������� !���� Pointing task  (��#)��$%�����
'��,

�"#$%����5%������$"����+�%
'��, (���
'��� () 	!�����1&� )	��$� (� 3 (;����� �%"�-�#)��$%�����
, �%��� �%"���
�8��-�#)��$%�����, ;���"'�� �%"�-$%����5%������$"����+�%, �%�"'�� �%"���
�8��-$%����5%�����

�$"����+�%) 



 138 

subject 4

300

400

500

600

700

800

900

1000

1100

1.5 2.5 3.5 4.5 5.5 6.5

index of difficulty

m
o

v
e

m
e

n
t 

ti
m

e 0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 4

140

160

180

200

220

240

260

280

300

1.5 2.5 3.5 4.5 5.5 6.5

index of difficulty

 n
o

rm
a
li
z
e

 m
o

v
e
m

e
n

t 
ti

m
e
 

0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 4

300

400

500

600

700

800

900

1000

1100

0 10 20 30 40

velocity

m
o

v
e

m
e

n
t 

ti
m

e ID = 2

ID = 3

ID = 4

ID = 4.95

ID = 5.7

subject 4

140

160

180

200

220

240

260

280

300

0 10 20 30 40

velocilty
n

o
rm

a
li

z
e
 m

o
v
e
m

e
n

t 
ti

m
e

ID = 2

ID = 3

ID = 4

ID = 4.95

ID = 5.7

 
�&
 (� <.32 �%"��"#�%"���
�8�� (ms)  (��������� !���� Pointing task  (��#)��$%�����
'��,

�"#$%����5%������$"����+�%
'��, (���
'��� () 	!�����1&� )	��$� (� 4 

subject 5

300

400

500

600

700

800

900

1000

1100

1200

1.5 2.5 3.5 4.5 5.5 6.5

index of difficulty

m
o

v
e
m

e
n

t 
ti

m
e 0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 5

140

160

180

200

220

240

260

280

1.5 2.5 3.5 4.5 5.5 6.5

index of difficulty

 n
o

rm
a
li
z

e
 m

o
v

e
m

e
n

t 
ti

m
e

 

0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 5

300

400

500

600

700

800

900

1000

1100

1200

0 10 20 30 40

velocity

m
o

v
e
m

e
n

t 
ti

m
e ID = 2

ID = 3

ID = 4

ID = 4.95

ID = 5.7

subject 5

140

160

180

200

220

240

260

280

0 10 20 30 40

velocilty

n
o

rm
a
li
z

e
 m

o
v

e
m

e
n

t 
ti

m
e

ID = 2

ID = 3

ID = 4

ID = 4.95

ID = 5.7

 
�&
 (� <.33 �%"��"#�%"���
�8�� (ms)  (��������� !���� Pointing task  (��#)��$%�����
'��,

�"#$%����5%������$"����+�%
'��, (���
'��� () 	!�����1&� )	��$� (� 5 



 139 

subject 6

300

400

500

600

700

800

900

1000

1100

1200

1.5 2.5 3.5 4.5 5.5 6.5

index of difficulty

m
o

v
e
m

e
n

t 
ti

m
e 0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 6

140

150

160

170

180

190

200

210

220

230

1.5 2.5 3.5 4.5 5.5 6.5

index of difficulty

 n
o

rm
a
li
z
e
 m

o
v
e
m

e
n

t 
ti

m
e
 

0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 6

300

400

500

600

700

800

900

1000

1100

1200

0 10 20 30 40

velocity

m
o

v
e
m

e
n

t 
ti

m
e ID = 2

ID = 3

ID = 4

ID = 4.95

ID = 5.7

subject 6

140

150

160

170

180

190

200

210

220

230

0 10 20 30 40

velocity
n

o
rm

a
li
z
e
 m

o
v
e
m

e
n

t 
ti

m
e

ID = 2

ID = 3

ID = 4

ID = 4.95

ID = 5.7

 
�&
 (� <.34 �%"��"#�%"���
�8�� (ms)  (��������� !���� Pointing task  (��#)��$%�����
'��,

�"#$%����5%������$"����+�%
'��, (���
'��� () 	!�����1&� )	��$� (� 6 

subject 7

300

400

500

600

700

800

900

1000

1100

1200

1300

1.5 2.5 3.5 4.5 5.5 6.5

index of difficulty

m
o

v
e
m

e
n

t 
ti

m
e 0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 7

140

150

160

170

180

190

200

210

220

230

240

1.5 2.5 3.5 4.5 5.5 6.5

index of difficulty

 n
o

rm
a

li
z
e
 m

o
v
e
m

e
n

t 
ti

m
e
 

0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 7

300

400

500

600

700

800

900

1000

1100

1200

1300

0 10 20 30 40

velocity

m
o

v
e
m

e
n

t 
ti

m
e ID = 2

ID = 3

ID = 4

ID = 4.95

ID = 5.7

subject 7

140

150

160

170

180

190

200

210

220

230

240

0 10 20 30 40

velocity

n
o

rm
a
li

z
e
 m

o
v
e
m

e
n

t 
ti

m
e

ID = 2

ID = 3

ID = 4

ID = 4.95

ID = 5.7

 
�&
 (� <.35 �%"��"#�%"���
�8�� (ms)  (��������� !���� Pointing task  (��#)��$%�����
'��,

�"#$%����5%������$"����+�%
'��, (���
'��� () 	!�����1&� )	��$� (� 7 



 140 

subject 8

300

400

500

600

700

800

900

1000

1100

1200

1300

1.5 2.5 3.5 4.5 5.5 6.5

index of difficulty

m
o

v
e
m

e
n

t 
ti

m
e 0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 8

140

160

180

200

220

240

260

280

300

320

1.5 2.5 3.5 4.5 5.5 6.5

index of difficulty

 n
o

rm
a
li
z
e
 m

o
v
e
m

e
n

t 
ti

m
e
 

0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 8

300

400

500

600

700

800

900

1000

1100

1200

1300

0 10 20 30 40

velocity

m
o

v
e
m

e
n

t 
ti

m
e ID = 2

ID = 3

ID = 4

ID = 4.95

ID = 5.7

subject 8

140

160

180

200

220

240

260

280

300

320

0 10 20 30 40

velocity
n

o
rm

a
li
z
e
 m

o
v
e
m

e
n

t 
ti

m
e

ID = 2

ID = 3

ID = 4

ID = 4.95

ID = 5.7

 
�&
 (� <.36 �%"��"#�%"���
�8�� (ms)  (��������� !���� Pointing task  (��#)��$%�����
'��,

�"#$%����5%������$"����+�%
'��, (���
'��� () 	!�����1&� )	��$� (� 8 
subject 9

300

400

500

600

700

800

900

1000

1100

1.5 2.5 3.5 4.5 5.5 6.5

index of difficulty

m
o

v
e
m

e
n

t 
ti

m
e 0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 9

140

160

180

200

220

240

260

280

300

1.5 2.5 3.5 4.5 5.5 6.5

index of difficulty

 n
o

rm
a
li
z
e
 m

o
v
e
m

e
n

t 
ti

m
e
 

0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 9

300

400

500

600

700

800

900

1000

1100

0 10 20 30 40

velocity

m
o

v
e
m

e
n

t 
ti

m
e ID = 2

ID = 3

ID = 4

ID = 4.95

ID = 5.7

subject 9

140

160

180

200

220

240

260

280

300

0 10 20 30 40

velocity

n
o

rm
a
li
z
e
 m

o
v
e
m

e
n

t 
ti

m
e

ID = 2

ID = 3

ID = 4

ID = 4.95

ID = 5.7

 
�&
 (� <.37 �%"��"#�%"���
�8�� (ms)  (��������� !���� Pointing task  (��#)��$%�����
'��,

�"#$%����5%������$"����+�%
'��, (���
'��� () 	!�����1&� )	��$� (� 9 



 141 

subject 10

300

500

700

900

1100

1300

1500

1700

1.5 2.5 3.5 4.5 5.5 6.5

index of difficulty

m
o

v
e
m

e
n

t 
ti

m
e 0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 10

140

160

180

200

220

240

260

280

300

320

340

1.5 2.5 3.5 4.5 5.5 6.5

index of difficulty

 n
o

rm
a
li
z
e
 m

o
v
e
m

e
n

t 
ti

m
e
 

0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 10

300

500

700

900

1100

1300

1500

1700

0 10 20 30 40

velocity

m
o

v
e
m

e
n

t 
ti

m
e ID = 2

ID = 3

ID = 4

ID = 4.95

ID = 5.7

subject 10

140

160

180

200

220

240

260

280

300

320

340

0 10 20 30 40

velocity
n

o
rm

a
li
z
e
 m

o
v
e
m

e
n

t 
ti

m
e

ID = 2

ID = 3

ID = 4

ID = 4.95

ID = 5.7

 
�&
 (� <.38 �%"��"#�%"���
�8�� (ms)  (��������� !���� Pointing task  (��#)��$%�����
'��,

�"#$%����5%������$"����+�%
'��, (���
'��� () 	!�����1&� )	��$� (� 10 
subject 11

300

400

500

600

700

800

900

1000

1100

1200

1.5 2.5 3.5 4.5 5.5 6.5

index of difficulty

m
o

v
e
m

e
n

t 
ti

m
e 0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 11

140

160

180

200

220

240

260

280

300

320

1.5 2.5 3.5 4.5 5.5 6.5

index of difficulty

 n
o

rm
a
li
z
e
 m

o
v
e
m

e
n

t 
ti

m
e
 

0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 11

300

400

500

600

700

800

900

1000

1100

1200

0 10 20 30 40

velocity

m
o

v
e
m

e
n

t 
ti

m
e ID = 2

ID = 3

ID = 4

ID = 4.95

ID = 5.7

subject 11

140

160

180

200

220

240

260

280

300

320

0 10 20 30 40

velocity

n
o

rm
a
li
z
e
 m

o
v
e
m

e
n

t 
ti

m
e

ID = 2

ID = 3

ID = 4

ID = 4.95

ID = 5.7

 
�&
 (� <.39 �%"��"#�%"���
�8�� (ms)  (��������� !���� Pointing task  (��#)��$%�����
'��,

�"#$%����5%������$"����+�%
'��, (���
'��� () 	!�����1&� )	��$� (� 11 



 142 

subject 12

300

500

700

900

1100

1300

1500

1.5 2.5 3.5 4.5 5.5 6.5

index of difficulty

m
o

v
e
m

e
n

t 
ti

m
e 0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 12

140

190

240

290

340

390

440

490

1.5 2.5 3.5 4.5 5.5 6.5

index of difficulty

 n
o

rm
a
li
z
e
 m

o
v
e
m

e
n

t 
ti

m
e
 

0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 12

300

500

700

900

1100

1300

1500

0 10 20 30 40

velocity

m
o

v
e
m

e
n

t 
ti

m
e ID = 2

ID = 3

ID = 4

ID = 4.95

ID = 5.7

subject 12

140

190

240

290

340

390

440

490

0 10 20 30 40

velocity

n
o

rm
a
li
z
e
 m

o
v
e
m

e
n

t 
ti

m
e

ID = 2

ID = 3

ID = 4

ID = 4.95

ID = 5.7

 
�&
 (� <.40 �%"��"#�%"���
�8�� (ms)  (��������� !���� Pointing task  (��#)��$%�����
'��,

�"#$%����5%������$"����+�%
'��, (���
'��� () 	!�����1&� )	��$� (� 12 



 143 

Linear steering task 
subject 3

300

500

700

900

1100

1300

1500

1700

1900

2100

2300

1.5 6.5 11.5 16.5 21.5 26.5

index of difficulty

m
o

v
e

m
e

n
t 

ti
m

e 0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 3

60

70

80

90

100

110

120

130

140

150

1.5 6.5 11.5 16.5 21.5 26.5

index of difficulty

n
o

rm
a
li

z
e
 m

o
v
e
m

e
n

t 
ti

m
e

0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 3

300

500

700

900

1100

1300

1500

1700

1900

2100

2300

0 10 20 30 40

velocity

m
o

v
e

m
e

n
t 

ti
m

e

ID = 3

ID = 10

ID = 17

ID = 24

subject 3

60

70

80

90

100

110

120

130

140

150

0 10 20 30 40

velocity

n
o

rm
a
li

z
e
 m

o
v
e
m

e
n

t 
ti

m
e

ID = 3

ID = 10

ID = 17

ID = 24

 
�&
 (� <.41 �%"��"#�%"���
�8�� (ms)  (��������� !���� Linear steering task  (��#)��$%�����


'��,�"#$%����5%������$"����+�%
'��, (���
'��� () 	!�����1&� )	��$� (� 3 (;����� �%"�-�#)��
$%�����, �%��� �%"���
�8��-�#)��$%�����, ;���"'�� �%"�-$%����5%������$"����+�%, �%�"'�� �%"���
�8��-$%����5%��

����$"����+�%) 

 



 144 

subject 4

0

500

1000

1500

2000

2500

3000

3500

4000

1.5 6.5 11.5 16.5 21.5 26.5

index of difficulty

m
o

v
e
m

e
n

t 
ti

m
e 0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 4

60

70

80

90

100

110

120

130

140

150

160

1.5 6.5 11.5 16.5 21.5 26.5

index of difficulty

n
o

rm
a
li

z
e
 m

o
v
e
m

e
n

t 
ti

m
e

0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 4

300

800

1300

1800

2300

2800

3300

3800

0 10 20 30 40

velocity

m
o

v
e
m

e
n

t 
ti

m
e

ID = 3

ID = 10

ID = 17

ID = 24

subject 4

60

70

80

90

100

110

120

130

140

150

160

0 10 20 30 40

velocity
n

o
rm

a
li
z
e
 m

o
v
e

m
e
n

t 
ti

m
e

ID = 3

ID = 10

ID = 17

ID = 24

 
�&
 (� <.42 �%"��"#�%"���
�8�� (ms)  (��������� !���� Linear steering task  (��#)��$%�����


'��,�"#$%����5%������$"����+�%
'��, (���
'��� () 	!�����1&� )	��$� (� 4 
subject 5

0

500

1000

1500

2000

2500

3000

3500

1.5 6.5 11.5 16.5 21.5 26.5

index of difficulty

m
o

v
e
m

e
n

t 
ti

m
e 0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 5

60

80

100

120

140

160

180

200

220

240

1.5 6.5 11.5 16.5 21.5 26.5

index of difficulty

n
o

rm
a

li
z
e
 m

o
v
e

m
e
n

t 
ti

m
e

0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 5

300

800

1300

1800

2300

2800

3300

3800

0 10 20 30 40

velocity

m
o

v
e
m

e
n

t 
ti

m
e

ID = 3

ID = 10

ID = 17

ID = 24

subject 5

60

80

100

120

140

160

180

200

220

240

0 10 20 30 40

velocity

n
o

rm
a

li
z
e
 m

o
v
e
m

e
n

t 
ti

m
e

ID = 3

ID = 10

ID = 17

ID = 24

 
�&
 (� <.43 �%"��"#�%"���
�8�� (ms)  (��������� !���� Linear steering task  (��#)��$%�����


'��,�"#$%����5%������$"����+�%
'��, (���
'��� () 	!�����1&� )	��$� (� 5 



 145 

subject 6

0

500

1000

1500

2000

2500

3000

3500

4000

1.5 6.5 11.5 16.5 21.5 26.5

index of difficulty

m
o

v
e
m

e
n

t 
ti

m
e 0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 6

60

80

100

120

140

160

180

1.5 6.5 11.5 16.5 21.5 26.5

index of difficulty

n
o

rm
a

li
z
e
 m

o
v
e
m

e
n

t 
ti

m
e

0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 6

300

800

1300

1800

2300

2800

3300

3800

0 10 20 30 40

velocity

m
o

v
e
m

e
n

t 
ti

m
e

ID = 3

ID = 10

ID = 17

ID = 24

subject 6

60

80

100

120

140

160

180

0 10 20 30 40

velocity
n

o
rm

a
li

z
e
 m

o
v
e
m

e
n

t 
ti

m
e

ID = 3

ID = 10

ID = 17

ID = 24

 
�&
 (� <.44 �%"��"#�%"���
�8�� (ms)  (��������� !���� Linear steering task  (��#)��$%�����


'��,�"#$%����5%������$"����+�%
'��, (���
'��� () 	!�����1&� )	��$� (� 6 
subject 7

0

500

1000

1500

2000

2500

3000

3500

1.5 6.5 11.5 16.5 21.5 26.5

index of difficulty

m
o

v
e
m

e
n

t 
ti

m
e 0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 7

60

80

100

120

140

160

180

1.5 6.5 11.5 16.5 21.5 26.5

index of difficulty

n
o

rm
a
li

z
e
 m

o
v
e
m

e
n

t 
ti

m
e

0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 7

300

800

1300

1800

2300

2800

3300

0 10 20 30 40

velocity

m
o

v
e
m

e
n

t 
ti

m
e

ID = 3

ID = 10

ID = 17

ID = 24

subject 7

60

80

100

120

140

160

180

0 10 20 30 40

velocity

n
o

rm
a
li
z
e
 m

o
v
e
m

e
n

t 
ti

m
e

ID = 3

ID = 10

ID = 17

ID = 24

 
�&
 (� <.45 �%"��"#�%"���
�8�� (ms)  (��������� !���� Linear steering task  (��#)��$%�����


'��,�"#$%����5%������$"����+�%
'��, (���
'��� () 	!�����1&� )	��$� (� 7 
 



 146 

subject 8

0

500

1000

1500

2000

2500

3000

3500

4000

1.5 6.5 11.5 16.5 21.5 26.5

index of difficulty

m
o

v
e
m

e
n

t 
ti

m
e 0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 8

60

80

100

120

140

160

180

200

220

240

260

1.5 6.5 11.5 16.5 21.5 26.5

index of difficulty

n
o

rm
a
li
z
e
 m

o
v
e
m

e
n

t 
ti

m
e

0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 8

300

800

1300

1800

2300

2800

3300

3800

4300

0 10 20 30 40

velocity

m
o

v
e
m

e
n

t 
ti

m
e

ID = 3

ID = 10

ID = 17

ID = 24

subject 8

60

80

100

120

140

160

180

200

220

240

260

0 10 20 30 40

velocity

n
o

rm
a
li
z
e
 m

o
v
e
m

e
n

t 
ti

m
e

ID = 3

ID = 10

ID = 17

ID = 24

 
�&
 (� <.46 �%"��"#�%"���
�8�� (ms)  (��������� !���� Linear steering task  (��#)��$%�����


'��,�"#$%����5%������$"����+�%
'��, (���
'��� () 	!�����1&� )	��$� (� 8 
subject 9

0

500

1000

1500

2000

2500

3000

3500

4000

1.5 6.5 11.5 16.5 21.5 26.5

index of difficulty

m
o

v
e
m

e
n

t 
ti

m
e 0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 9

60

80

100

120

140

160

180

200

220

1.5 6.5 11.5 16.5 21.5 26.5

index of difficulty

n
o

rm
a
li
z
e
 m

o
v
e
m

e
n

t 
ti

m
e

0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 9

300

800

1300

1800

2300

2800

3300

3800

4300

0 10 20 30 40

velocity

m
o

v
e
m

e
n

t 
ti

m
e

ID = 3

ID = 10

ID = 17

ID = 24

subject 9

60

80

100

120

140

160

180

200

220

0 10 20 30 40

velocity

n
o

rm
a
li
z
e
 m

o
v
e
m

e
n

t 
ti

m
e

ID = 3

ID = 10

ID = 17

ID = 24

 
�&
 (� <.47 �%"��"#�%"���
�8�� (ms)  (��������� !���� Linear steering task  (��#)��$%�����


'��,�"#$%����5%������$"����+�%
'��, (���
'��� () 	!�����1&� )	��$� (� 9 



 147 

subject 10

0

1000

2000

3000

4000

5000

6000

1.5 6.5 11.5 16.5 21.5 26.5

index of difficulty

m
o

v
e
m

e
n

t 
ti

m
e 0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 10

60

80

100

120

140

160

180

200

220

240

260

1.5 6.5 11.5 16.5 21.5 26.5

index of difficulty

n
o

rm
a
li
z
e
 m

o
v
e
m

e
n

t 
ti

m
e

0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 10

300

800

1300

1800

2300

2800

3300

3800

4300

4800

5300

0 10 20 30 40

velocity

m
o

v
e
m

e
n

t 
ti

m
e

ID = 3

ID = 10

ID = 17

ID = 24

subject 10

60

80

100

120

140

160

180

200

220

240

260

0 10 20 30 40

velocity

n
o

rm
a
li
z
e
 m

o
v
e
m

e
n

t 
ti

m
e

ID = 3

ID = 10

ID = 17

ID = 24

 
�&
 (� <.48 �%"��"#�%"���
�8�� (ms)  (��������� !���� Linear steering task  (��#)��$%�����


'��,�"#$%����5%������$"����+�%
'��, (���
'��� () 	!�����1&� )	��$� (� 10 
subject 11

0

500

1000

1500

2000

2500

3000

3500

4000

4500

1.5 6.5 11.5 16.5 21.5 26.5

index of difficulty

m
o

v
e
m

e
n

t 
ti

m
e 0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 11

60

80

100

120

140

160

180

200

1.5 6.5 11.5 16.5 21.5 26.5

index of difficulty

n
o

rm
a
li
z
e
 m

o
v
e
m

e
n

t 
ti

m
e

0 rpm

10 rpm

20 rpm

30 rpm

40 rpm

subject 11

300

800

1300

1800

2300

2800

3300

3800

4300

0 10 20 30 40

velocity

m
o

v
e
m

e
n

t 
ti

m
e

ID = 3

ID = 10

ID = 17

ID = 24

subject 11

60

80

100

120

140

160

180

200

0 10 20 30 40

velocity

n
o

rm
a
li
z
e
 m

o
v
e
m

e
n

t 
ti

m
e

ID = 3

ID = 10

ID = 17

ID = 24

 
�&
 (� <.49 �%"��"#�%"���
�8�� (ms)  (��������� !���� Linear steering task  (��#)��$%�����


'��,�"#$%����5%������$"����+�%
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Circular steering task 
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Abstract 

The objective of this research is to study the relation of 
working efficiency of human when lower parts of his/her body 
subjected to additional motion exerted by an external device. In 
this experiment, the volunteers will perform the defined tasks on 
a table and their lower extremities are moved by special external 
device. Based on standard definitions of FittsO law and Steering 
law, these tasks consist of a pointing task, a linear steering task, 
and a circular steering task. In each experiment, the device will 
control velocity of lower extremity at constant speed. From the 
experimental results, we can conclude that, at low and medium 
velocities, the working efficiencies are approximately the same for 
pointing and linear steering tasks. In addition, at high speed, the 
working efficiency is slightly lower for circular steering task. 

 
1. 1���� 

�h&&�(�3���F)�����H���3���(�

����
������G3(��F������G3
�3�
���3#���i	����D3���3����H���3(3+#j��H���3���+'�	��G�K�
��
3����H���33�3G3�#���
�3 �4����4��	���*��-�,�4G3����H���3	����
4�k3�����((�����)/#���i������H�3
�G�K
3*�	��I�H���3#�'#����3
�'K3�3�E�3 ��������X'����3���#�'#����3��D3�
��3�3���G�K���'[��*�����
������� ���3 +���#����
��33K�� 	��������3X(�� ��D3#K3 G3�'�#	�
�����K�hl��3��'K
���������*�	4�3-/G�K(�

����3����H���3��D3
�
��3�3	����������3������(I��D3����i �#�
�-����3���	��'K��
�
��K�hl��G�K[JK���	�

�	&H���D3#K��3����H���3��D3�
��3�3 ������*H�
�l
(�

�
���H���3�����3��*�
3G�l����������������H��������3����&��
��3�����K�&������H���3 �'�3��� ����	�	��
���4���4� 

��3
�&��3����X���X3IE��3
���G�	�G3�����K�hl��3������

�� ���
�4��	����
����3��
G�K��(�������G3�)���	3�F�/�H�����H���3 mE��	�[�'�
����*��,�4#�����������D3��3	�� ���3�4��	

�	��'����3���������� 
��� �4��	�������
��3���+���#G�K'������E�3 ������3i��D3#K3 

��������X#�	�	�4(��3
�&�����*����'K
�� ����4��	����
����3��

G�K��(�������	�[���(���*��-�,�4����H���3	��3K���4���G' '��3��3
��1��	�����������
�&��3��
�������

�	*�	4�3-/���
���
���*��-�,�4����H���3���	3�F�/�	����������*�
3����IJ��
����3��
 
�����

�	*�	4�3-/'������
G3��3
�&��3��&�G�K����'*�(+'�G�K
��*�*	�
��H���3����H��3'4�K�	��(
����K���(3�����)/*�K�����
�
����3��� �����)/'������
&�

(
�	��G�K�
����3������
�������H���3
��3���G�KG3���
�'���*��-�,�4����H���3G3��3
�&��3��#K����D3��3���
��D3	�#�L�3�����D3��3���
3���
��*�	��I�H��'K 

G3�(����#K3�'K�-�(��IE�	�#�L�3�������	�3���*��-�,�4���
����H���3���	3�F�/�����('K
� FittsO law ��� Steering law mE��
��D3�����	��(G3��#*�����	������
�&�� &��3��3&��-�(��IE�
�-����
�'��� �����3#���i����H��'K�H�����'*�( �,�����[�����'���
��� *���[� 
 
 



 

 

 

167 

2. �;�<���=�>�� 
����'X3*H�
�l�������3E��
�����
�'���*��-�.,�4G3����H���3

���	3�F�/ G3��3
�&��3���'K
H�3E�IE�
�-���������D3	�#��L�3�����D3���
��	��(G3��3
�&��G3
��
K�� 

	�#�L�3��������G�KG3�������	�3����H���3*H����(��3
�&��3��
��
FittsO law[1] ��� Steering law[3] �3����&�� FittsO law ��� 
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�J���� 2 �J��*'����F)���3 steering task[3] 
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3��� ��3���G�K�'*�(G3���
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��� steering law 
�� 1 pointing task 2 linear steering task ��� 3 
circular steering task 
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3.1 Pointing task 
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9241-9 
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group A ��� B *�
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#������� 3 #�����*'�[���������(����( LSD ��� circular steering 
task 
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�E�3G3��3������� (pointing 
task) +'�	�	����*��-�,�4G3����H���3�4��	�E�3*J�*�' 7 ����/�mX3#/ 
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���	�) 7 ����/�mX3#/ �#�4(
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